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1.

PART-A ZOOLOGY

Capillary Electrophoresis shows Bands of HbA
and HbF with HbF > 90%. Probable Diagnosis
is -

(1) Cirrhosis Liver () B Thalassemia

(3) Leukemia (4) Multiple Myeloma
(5) Question not attempted

What event occurs in oogonia between the 2-

7™ month of foetal development and birth?

(1) All oogonia differentiate into secondary
oocytes.

(2) Oogonia continue mitosis.

(3) The ovary completely degenerates.

(4) Oogonia enter meiosis and become primary
oocytes.

(5) Question not attempted

Which of the following statement best explains 3

the function of the sliding clamp (e.g., PCNA in

eukaryotes) during DNA replication?

(1) It stabilizes the single-stranded DNA to
prevent it from forming secondary
structures.

(2) It removes the RNA primer from the newly
synthesized strand.

() It acts as a catalyst for the unwinding of
DNA strands.

(4) It holds DNA polymerase in place on the
DNA strand, increasing the processivity of
DNA synthesis.

(3) Question not attempted

Which of the following statement about 4%

mammalian gastrulation is TRUE?

(1) Hypoblast cells give rise to all three germ
layers.

(2) Epiblast cells migrate through the primitive
streak to form mesoderm and endoderm.

() Gastrulation begins with the formation of the
notochord.

(4) The primitive streak forms at the anterior end
of the epiblast. Elsﬁﬁ']

(5) Question not attempted

1.

G

SR SAFSIHRART ¥ HbA Td HbF & ds
uTe §Y, SWH HbF > 90% & | |wifdd s
PHIAT 87

(1) R foraw

(3) wyfefaa

(5) sRa =

o1 & e iR o @ 74 7EH @ 9=

T # F@r gedr Bt 87

() wf iR fgdas swer & fufa &
S E |

(2) AT ATgeiRv oI XEar 2 |

(3) sfsTer Q¥ axE ¥ &fior &1 A 2 |

(4) st SIS # de FRar § 8l
I JTUETY] 99 T 2 |

(8) =g ue

fefoRed 7 & S wee Svav ufvefy @

IRM wWERT wu (@GR, q@Rdew F

éﬁ?ﬂww)a%mﬁwmﬁﬁﬁwm

2

@ B SR
(4) A9 HIZAHET

(1) J& THA-—ISGP a1t YAV B ReR Bl
g dife 39 fdme Waed 9 ¥ Adr
ST 9 |

(2) g8 U Heelfid wWe ¥ IRUTU UISHR @l
gl QaT 2 |

(3) g8 STTY ws B Giaw B oY SRS B
w4 H B HRaT 2 |

(4) TE STy diferiat &Y SIgAY & O X@ar

ST B |

() argalRa ue=

Frfafad # & ST Bo wERT AgauE

P IR H HEI 272

(1) sEUeRe @ PRGN a9 o @
foor By €

() teRe St ] Bt Res & Aray
A ya FRAl & SR A9ed 9 vered @
fomior Bl §

() g™ ARHIE & FEfor I 3 B 2

@) fffes Regs Reme 3 sw R
(anterior end) U¥ 4T 2 |

(8) 3rgalRa u==
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- The digestive system of ctenophores is - S.

(1) Complete with both mouth and anus

(2) External, as they digest food outside the
body

(3) Incomplete with only one opening

(4) Absent, with food absorbed through
diffusion

(5) Question not attempted

E:E
(Rl s

* Why does Earth’s surface receive nearly twice as -

much longwave radiation from the atmosphere

as shortwave radiation from the Sun?

(1) The atmosphere re-emits absorbed radiation
back to the surface.

(2) The Earth’s surface reflects all shortwave
radiation.

(3) Longwave radiation is more energetic than
shortwave radiation.

(4) The
radiation.

Sun emits very little shortwave

(5) Question not attempted

- Which of the following is the primary cause of 7

eutrophication in aquatic ecosystems?

(1) Excessive nutrients, particularly nitrogen
and phosphorus, from agricultural runoff.

(2) Increased atmospheric CO; concentrations.

(3) Increased levels of dissolved oxygen.

(4) Higher water salinity levels.

(5) Question not attempted

- Which type of joint is found between the femur 8-

and pelvis (hip joint)?
(1) Pivot joint
(3) Hinge joint

(2) Ball and socket joint
(4) Saddle joint
(5) Question not attempted

- Which of the following primate groups is 9

considered the most primitive?

(1) Strepsirrhines (Lemurs and Lorises)

(2) Catarrhines (Old World Monkeys and Apes)
(3) Haplorhines (Monkeys and Apes)

(4) Platyrrhines (New World Monkeys)

(5) Question not attempted

SAMBR &1 9ro- dF & —

() Hg AR 7&T1 Fi & |1y got

(2) qrEdl, 9ifs 9 TR & 9EY Yo gE §
(3) Baa Usp foog & AT R

(4) IrguRerd, Ao TAR & Arad ¥ gefid
gIaT 2

(5) srgailRa wed

gedl @1 AAE Bl agHed 9 [P W/ agaw

faféxor & g A @ QnpEr SeaRT

fafevor @4t gra gar 87

(1) argFsd s@ufta fafdvor &) ddag o auy
Icafofa wxar 21

() yedt @1 Wag @4 dgd fRAfevo @
RTafda &l 21

(3) e fafepvor ergaseT fafe=or & g #
f® SHofar e 2 | '

() I 9gd A ogaxT fafewor scafsa e
Bl

(5) rgalRa =

fr=faRaa d @ o9 Sl uiRRerfae a3 4

U9l T YTafAd HROT 27

(1) P uarE | JTOF dves dd, Py wy
¥ AEgNA 3R BRPBRY |

(2) argHsea CO, wigar ¥ g% |

(3) gfera SiTeRIIST &1 931 83T WK |

(4) gl &1 GOl BT I WX |

(5) argiRa ue

BHHR 3R Ufea & 99 B9 TR BT WIS

T ST 8 ?

(1) fUge s

() f&= <irs

(5) raRd w¥

frfoRRad # & Sar wighe 9 waw InfeH

HET ST 27

(1) wftaea @9 IR diRkE)

(2) dewrsd (R AT & dex 3R aR)

(3) eREEH (8% 3R aFR)

@) wifeRerz ([E g & dw))

(5) s=RA

(2) dfet 3R dfwe G
(@) d=a A
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10.

11.

12.

13.

14.

15.

The umbilical vein is responsible for -

(1) Removing waste products from the foetal
blood

(2) Transporting blood from the foetus to the
placenta

(3) Circulating blood between the mother and
foetus

(4) Carrying oxygen and nutrients from the
placenta to the foetus

(5) Question not attempted

During mammalian spermatogenesis, the

transition from diploid to haploid cells occurs at

which of the following stages?

(1) Spermatids to spermatozoa

(2) Secondary spermatocytes to spermatids

(3) Primary spermatocytes to  secondary
spermatocytes

(4) Spermatogonia to primary spermatocytes

(5) Question not attempted _

What is the main source of electrons in a

Transmission Electron Microscope?

(1) LED source (2) Tungsten filament

(3) Xenon arc lamp  (4) Halogen lamp

(3) Question not attempted

Which of the following is an example of

competitive inhibition?

(1) Cyanide inhibiting cytochrome oxidase

(2) Non-hydrolysable ATP analog inhibiting
ATPase

(3) Heavy metals inhibiting enzyme activity

(4) Sulfa drugs inhibiting folic acid synthesis in
bacteria

(5) Question not attempted

A buffer solution contains 0.2 M acetic acid and

0.1 M sodium acetate. What is the pH of the

buffer? (Given : pKa of acetic acid = 4.76)

(1) 5.06 (2) 4.46

(3) 4.00 (4) 4.76

(5) Question not attempted

What is the role of ethidium bromide (EtBr) in

agarose gel electrophoresis?

(1) To provide buffer capacity

(2) To act as a loading dye

(3) To denature DNA

(4) To stain DNA for visualization under UV
light

(3) Question not attempted

10.

11.

12.

13.

14.

15.
EXE

it

Tify By f= & forg e & —

(1) o1 & <ad & Ul IeAral Bl FHarer
(2) 91 ¥ oRieT TF Yad BT IRIET BT
(3) #f iR YO1 & & Ve BT HAR HIAT

(4) wier & Yo a% Sifede SR Uud O

RECL
(5) srgeRa we

¥qaRdi H  Yeheld  (spermatogenesis) ®

e, 2 (diploid) | UM (haploid)

FIrEe § gRady fea axor # g 87

(1) wifesw & Y] (FaeIsa)

(2) fgdue wieNsed 3 WHlesd

(3) e wcrsey ¥ fadias
WHCAE e

(@) PR ¥ mefie wriRTEed

(8) Irg<iRa weH ,

- . ST e L T
T HIq 41 BIal 80

(1) TSS9 (2) e fhare
(3) S 3P o (4) Balo o
(5) Jrg=ilRa ueH

formfarRaa § 9 &9 ufoRueied (Competitive)

JTERIYT BT I 27

(1) ATTgs ERT AgehH Jifeasy &1 Ay

(2) IR—eZSIEEYad ATP UATAENT §RT
ATPase &1 faser

(3) 9 wrgelt §RT YargH Tfafafey w1 e

(@) sFRar ¥ wifes s HIATT &1 IS
& folu WedT 79 &1 IUAT

(5) SrgaRa g

U g O # 02 M tfafes i siR

0.1 M |\If$TH Yice ©| §9 9B} &1 pH &1

grmre (R T &: uRifes gRis @1pKa=4.76)

(1) 5.06 (2) 4.46

(3) 4.00 (4) 476

(5) IrgaiRa wed

TR Od gaaeeria § fsas dmes

(EtBr) &1 T AT 87

(1) 9% &HAT UeH &4 & o

(2) ANfET 1€ & wU ¥ B B B fow

(3) DNA &I f37=R &= & forg

(4) UV &1 @& d8d DNA & ¥4 3R I+
& fag

(5) I<iRd ued
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18.

20.

1Z:

19.

pressure gradient during exhalation?

(1) The contraction of the diaphragm and
intercostal muscles.

(2) The greater pressure in the lungs compared
to the atmosphere.

(3) The relaxation of inhalation muscles.

(4) The expansion of the thoracic cavity.

(5) Question not attempted

Which of the following characteristics is not 17

found in Branchiostoma?

(1) Post-anal tail

(2) Presence of a notochord throughout life

(3) Paired appendages (=] =]
(4) Pharyngeal gill slits [E] ¥

(5) Question not attempted

In a typical FRAP experiment, what is the 18

primary reason for using photobleaching?

(1) To destroy the protein of interest

(2) To increase fluorescence signal

(3) To label DNA molecules

(4) To measure the diffusion of fluorescent
molecules

(5) Question not attempted

In Labrador retrievers, the gene at the first locus  19-

determines pigment production (B = black,
b = brown), while the gene at the second locus
determines pigment deposition (E = allows
deposition, e = prevents deposition). What is the
coat color of a dog with the genotype bbEe?

(1) Black (2) Brown

(3) White (4) Yellow

(5) Question not attempted

Why do plants in the tundra typically have 20

shallow root systems?

(1) The permafrost prevents deep root
penetration.
(2) They grow in nutrient rich soil that does not

require deep roots.

They rely entirely on snowmelt for water.
The high winds encourage
growth.

3)
4

horizontal

(5)

Question not attempted

16. What is the primary factor that contributes to the 16. Jfg Bled & SR <919 9quar § QFrerE o

qreT Wfs HRE T 87

(1) ST SR gevaied ARURRT BT Hdae
(2) argHes B oIl H BESi | AP g9
(3) W i arell ARTURR &1 Rifdrer &
(4) Fefg e @1 fowr

(5) srgRa ueA

frfaRed & 9§ o9 I fAagvar gifksicerm &

€T uig SIRdr 87

(1) ue= 7T y©

(2) g9 R Aieis @t SufRerfy

(3) gfag SurT

(@) o e Reew

(5) srERa we

Udh AT FRAP 93T H BIETART &1 3=

SeTT T BT 87

(1) @fera ord= &1 T FA

(2) FIREH Hhd BT 9T

(3) DNA 21031l &I oIact BT

(4) geiRT IRl & UWEROT HI AT

(8) IJFART U

derer Réed 4, ugd dlew W) b fUrde

Sded (B = @Tell, b = 1) FuiRa &=ar &,

Safe R dled WR oM e SHEa Bl

fuiRa @=ar 8 (E = S99 &1 gAfa <« &,

e = M@ HI Addl 8)| SIHICISY bbEe arel

F B BIC BT AT 87

(1) e (2 w1

(3) 9wmg (4) grerm

(5) srgaRd WA

g1 # i A ST gomell AR TR Sl

BRIl 87

(1) gaipie TE8 Siel BT Uae &1 | Adhdl
2|

() 3 dive q@l 9 RER A A Sa E, Rras
forg el SISl @ SRevd A€l Bl |

3) 7 g & forg T TRE 9 9% fUgeq w
iR wxa €

(4) a1 ga] &faer gfg &1 agrar <t g |

(5) sraRa we

65 -k

Page 5 of 48




21. What happens immediately after the sperm and ~ 21- gs19] 3R 3¢ &1 frfearal & T & qRa 918
egg membranes fuse? ::E:Tj‘lz &? @ N N
(1) The zona pellucida dissolves completely X hﬁm@' avE ¥ Hol ofidl .
(2) The egg EL)mdergovas a cortical reaction to @ sist dielerlt B A B fow FCwA
; gfaferar | ToRar €
prevent polyspermy @) 1 AR 3 & T® qed frefT 2 T
(3) The sperm and egg nuclei instantly merge 5
(4) The sperm releases its DNA into the egg (4) g1y 3ae SIYAT BT oS F BT ®
(5) Question not attempted (5) agﬂﬁa PECH
22. Sertoli cells secrete a hormone that negatively 22- Felell HIR¥HET TAT BT 2HA Wﬁ‘ﬁ B!
regulates FSH. This hormone is - g?a}r FSH &1 Taree w0 & Frifid s
(1) Activin (2) Estrogen (1) fef @) :
(3) Testosterone (4) Inhibin 3) ST (@) =hRef
(5) Question not attempted (5) srgaRa ue
23. The Bohr effect refers to - 23. qIEr UM &7 ad § —
(1) "Decrease in oxygen affinity of hemoglobin at (1) S==a CO,3R A= pH R EHFAfRT &
high CO> and low pH ARG A A HagdT
(2) Conversion  of  oxyhemoglobin  to (2) sifrEErART &1 fesifrD SerafaT &
deoxyhemoglobin BT
() Increase in oxygen affinity of hemoglobin at @) /1 CO, W EHrefed & sifefo= o
low CO; ey Hagar
(4) Increase in hemoglobin affinity for carbon (4) BrEa AFRidaEs & g HrRT @
monoxide Jf8d Hagar
(5) Question not attempted (8) srg<iRa ue
24. In a dihybrid cross between two heterozygous 24. @y fayrgell 7ex @ el RrYy x ReYy) &
pea plants (RrYy x RrYy), what is the expected 49/ fgSi= (dihybrid) #fE d Ha=t @ 4=
phenotypic ratio among the offspring? ’ e wiEeEfe U AT BITTY
) L1 (2) 9:3:3:1 (=] =] 0} b (2) 9:3:3:1
(3) 1:2:1 (4) 3:1 gﬁ (3) 1:2:1 4) 3:1
(3) Question not attempted (5) IgERa g
25 The Kyoto Protocol is related to which of the 25- a@aer Wiedte £ ¥ & frg o O Hafa 87
(f:))l lcgiilrl;itiiiﬁge (2) Ozone depletion - - " aﬁﬁ,ﬁ:c ﬁ&-’R‘UT
(3) Desertification (4) Biodiversity loss Pl G0 =3
() Question not attempted (®) srgaRa we
26. Which vitamin is crucial in preventing neural 26 gRfYS yor Rew & SRM =R <gg |ET Bl
tube  defects during early embryonic B H Hrar fe®s Hewayof 87
i‘;vi?g;f;lt]‘; (2) Vitamin B12 o e < - ol
(3) Vitamin A (4) Folic acid @) 4 @) wifers TS
(3) Question not attempted ) srgafa we
65 -k Page 6 of 48




27. What determines the separation efficiency of 27. PEGE S DNA 37Ul & Jerehror gerar &
large DNA molecules in PFGE? AuiRa oy 27
1 3
- R el () S g St T 9% 1
(3) The frequency and Znole of alternating & 7 W e .
electric fields - @) i ﬁgﬁ &=l Bl a’ﬂ_‘fﬁ‘[ 3 roT
(4) The intensity of the fluorescent dye used (4) STAIT fT S aTet TR S @ e
(3) Question not attempted ®) JgaRT u
28. The Beer-Lambert law relates the absorbance to ~ 28- drm—agd gy (Beer-Lambert Law) ¥
which of the following? HGYYOT (Absorbance) fFd ov ik @var 272
(1) Molarity, density and absorbance (1) HreRar, g9 3R argeigor
(2) Absorptivity, path length and concentration (2) srqeioTSErT, T waTe ok [iwar
(3) Wavelength, pressure and temperature "
(4) Refractive index, concentration and (=] @) . m 3R T
temperature e (8) sacHie, Higdr iR aoEE
(5) Question not attempted o (8) Fg<Ra weA
29. Which of the following is not a major component 29 fy=faifag ¥ @ @ TRUNST G e
of municipal solid waste? BT UHE Uch Tel 87
(1) Food waste (2) Industrial chemicals (1) arer smfee (2) sfrenfire A
(3) Plastics (4) Paper (3) wiRes (4) HETH
(5) Question not attempted (5) <RI weA
30. The prosthetic group of flavoproteins are 30. TGS &7 URSIfew a9 1 | g '
derived from - &=
(1) Vitamin B6 (2) Vitamin BS (1) faerf@= 96 () faerfd= 45
(3) Vitamin B12 (4) Vitamin B2 (3) faerfd= 9112 (4) faerfA= 42
(5) Question not attempted (8) rgxIRa we
31. Which of the following lipids is the primary 31. fa=ferRad & & sr=ar fafts U%ISﬁ # grrfAs
energy storage molecule in animals? ol HSRY Y (Primary Energy Storage
(1) Phospholipids Molecule) &7 o
@) Glycolipids (1) wRwIffs (Phospholipids)
(2) Teng®Ifede (Glycolipids)
) Triacylglycerols (3) wrsufafRfeRiel (Triacylglycerols)
(4) Sterols (4) S (Sterols)
(5) Question not attempted (5) SrgaRd W
32. Which of these are properties of isozymes? 32. 9 | B9 ¥ SMSAINEH & 0T 87
(a) Differ in amino acid sequence but catalyze (a) 34T YRS arghd & = 810 € oifsa ww
same reaction 21 gfafrar &1 SART &=a &
(b) Display different kinetic parameters, such as (b) fafds Tifest trrfier wefdfa &xd & 99 Km
Km e (c) SIS erggIBRIEH TTfereierdr wad &
(c) Have different elgctrophoretlc mobility (d) T & AT RS e v ¥ ik
(d) Possess same amino ac‘:nd sequence and A3 URGhaT &7 SaAIRT B3 &
catalyz.e different reaction ﬂﬁl &
Select option - AP
(1 (b), (d) @ (a), (b). () M @), @ @ (@, (), ()
(3) (b), (o). (d) @ (), (o) @) ®), (). @ %@ e
(5) Question not attempted (5) SrgRe we
65 - * Page 7 of 48




33.

34.

35.

36.

37.

38.

The enzyme that binds to the promoter region of
DNA during transcription is -

(1) Topoisomerase (2) RNA polymerase
(3) Helicase (4) DNA polymerase
(5) Question not attempted

Which of the following characteristics is NOT 34
typically associated with members of phylum
Annelida?
(1) Jointed appendages
(2) Presence of nephridia
(3) Closed circulatory system (=] [=]
(4) Segmented body m
(5) Question not attempted

35.

Which of the following karyotypes would most
likely be associated with Cri-du-Chat syndrome?
(1) 46,XY, del(5p) '(2) 45,XX del(5p)

(3) 46,XX, dup(5p) (4) 45 XY del(5p)

(5) Question not attempted

A study analyzes the effectiveness of three
different fertilizers on crop yield. Which test
should be used?
(1) Chi-square test (2) One-way ANOVA
() Correlation analysis (4) Two-way ANOVA
(5) Question not attempted

What is the mean of the following data
set :{10, 20, 30, 40, 50}?

(1) 35 (2) 25

(3) 30 (4) 20

(3) Question not attempted

Which layer of the uterus is responsible for
contractions during labor?

33.

36.

37.

38.

yfcieia & SR SITAY & FARY &3 A I
qrelT UoTsH § —
(1) SYRISEERS
(3) g

(5) <Rd U
fFr=falRaa # @ o901 fRAgmar smdR w
HfersT 99 & wedi # A48 uig oy 27

(1) g SuiT

(2) =ftrfEar &1 SuRerfy

(3) 9T gReRoT dF

(4) Gfsd IR

(8) 3R U

frrefafaa # & s SRAeRY 99y s
HHIEAT ¥ fb—g—de Rigm 9 1 8nm?

(1) 46, XY, S (5p) (2 45XX =4 (5p)

B) 46, XX, QU (5p) (@) 45 XY = (5p)

(5) argeRa we

U eI H BIel B SUST UR A1 T T—aTelT
JERBI DI YATTTar 1 fagergor fbar a7 €
DITHT UV SRIATA BT ST FIRY?

(1) PE—TFEER G9eT07 (2) THARST THar

(2) IRUAT UfeimRS
(4) SIgav g

() wEHey fwaiwyr  (4) S—axwT THET

(5) IrgaRd uw=

frfeiRaa e W {10, 20, 30, 40, 50) &7 T
(Mean) &1 87

(1) 35 (2) 25

(3) 30 (4) 20

(5) IRy ueA

T & SR A @ faw mafery @ By
R RreEr gt 27

(1) Endometrium (2) Myometrium (1) veSmfegs (2) "
(3) Stratum basalis (4) Perimetrium (3) ¥eq Juifory (4) uRafezy
(3) Question not attempted (8) sriRa ==
39. The proliferative phase of the menstrual cycleis 39 wf¥s o =% &7 gf&=RoT (proliferative phase)

primarily under the influence of - fo sME & frizor § gram 22
(1) Oxytocin (2 LH (1) sfedeReE (2) veg=. (LH)
(3) Progesterone (4) Estrogen (3) U= (4) TeeToE
(5) Question not attempted (8) sraRa ug=
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42,

43.

40.

41.

44.

45,

Which of the following carbohydrates is a non-
reducing sugar?
(1) Glucose
(3) Maltose

(5) Question not attempted

(2) Sucrose
(4) Fructose

Which of the following types of plankton is

crucial for the transfer of energy from primary

producers to higher trophic levels in aquatic food

webs?

(1) Zooplankton (2) Nekton

(3) Bacterioplankton (4) Phytoplankton

(5) Question not attempted

Which of the following gases is the primary

contributor to acid rain?

(1) Carbon monoxide (2) Nitrogen

(3) Sulfur dioxide (4) Methane

(5) Question not attempted

Which of the following components is used in

FACS to deflect the cells based on their

fluorescent label status?

(1) Electrostatic plates (2) Electromagnets

(3) Microcapillary (4) Fluorophores
tubes

(5) Question not attempted

Crossing over occurs in which phase of

cell-cycle?

(1) Pachytene (2) Zygotene

(3) Diplotene (4) Leptotene

(5) Question not attempted

Which of the following is a key reason why

heterozygous individuals (HbA/HbS) have a

survival advantage in malaria-endemic regions?

(1) Their red blood cells rupture when infected
with Plasmodium, preventing the parasite’s
reproduction

(2) They produce an excess of normal
haemoglobin A

(3) They do not produce haemoglobin S

(4) Their haemoglobin prevents mosquito bites

(5) Question not attempted

EiE
E‘K‘: ]
e

W0. Prafafes ¥ W @ odEEse @
IR-AUIS (Non-Reducing) T 272

(1) " (2) g
(3) Hreer (4) waera
() srg=iRa e

N. ffaRed § 9 F99T ©gd USRSl @rE
ST H Ui Saredl A S 2ffthd Wl dd
Sl B BRI & oy Agvaget 82

(1) SirAiheq (2) e
(3) FEIRATTided  (4) wrserdide
(5) rgRd e

42. f=ferga # & iRT 19 ot aul & forg g

w0 A Rrer 87

(1) FHrEa A-RiTaaEs (2) AR

(3) FAoHx SrRiTaarss (4) #Hee

(6) arg<Ra ue

43. FACS ¥ ®If3@mRi o 99¢ ufadifta oge @t
Rafd & R w® fgafea &3 & fou
FrafaRaa § 9 few g &1 SuanT fFar s
g7
(1) seeeles we (2) goasie
(3) ATSHIHUAN gd (4) FARIBR
(5) arfIRd g

44. HRT MR PIRE—aPb & fFg a_or § 8
e

(1) ford= (2 SETeE
Q) fe=rd= (4) A<=
(8) argaRd U=

45. o= # 9 e = SR © b fawemge
Ffdeaal (HbA/HbS) &1 AeiRar—enfe &=1 #
SHfad s &1 o fBear 87
(1) =rHIETE d GHfAa 81 W) S9! o
Yd BIRHY BT WAl &, o uReidl &1
Uo- 6 Il &

(2 7 g eFrafed A &1 ifdwar |
I B &

(3) T EHrefaT S BT IAEA T8I BIA &

(4) 96T BHFAIRT ARl & ded F gardl
2

(5) argaRd e
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46.

47.

48.

49,

During embryonic development, cells undergo

different levels of commitment. Which of the

following statements correctly represents the

progressive restriction of cell fate?

(1) Specification — Determination —

Differentiation

Determination — Specification —

Differentiation

Differentiation — Specification —

Determination

Specification — Differentiation —

Determination

(5) Question not attempted

In double staining immunohistochemistry, why

are primary antibodies often chosen from

different species?

(1) To allow the use of the same secondary
antibody for both targets.

(2)
(3

(4)

(2) To prevent cross-reactivity between primary
antibodies.

(3) To improve the binding affinity of antibodies
to their targets.

To ensure high specificity for the target
antigens.

(3) Question not attempted

4

The main function of Parathyroid Hormone

(PTH) is -

(1) To regulate insulin secretion

(2) To decrease blood calcium levels

(3 To increase blood calcium levels

(4) To increase sodium absorption

(3) Question not attempted

Which of the following statement about the

vertebrate visual system is CORRECT?

(1) Rod cells are highly sensitive to light and are
responsible for vision in dim light.

(2) The optic nerve is formed by the axons of
bipolar cells in the retina.

(3) Cone cells are more sensitive to light than
rod cells and are responsible for night vision.

(4) Rod cells are responsible for color vision and
function best in bright light.

(3) Question not attempted

(=] % [=]
B AR
DI

46

47.

48.

49,

wo e @ GRE ST R g
R @ ot ¥ | Bt 3 W wer R
BT frafa @ wfeiier ifvdaar a1 w8 s
# geriar 87

() ffrear — fuRke - s

(2) fgfor — fafredr — feE

() fadgs — ffrea - fufker

@) e — fves — o

(8) srg<iRa weA

Sgd wfH T §  uefie
UEIHTET Bl I[FN I T—3TT Yol A &=
AT ST 87

(M <=1 et & fore vs & fgdius e &
SN & gAY a9 @ forw

(2) grafes (EHEE @ 99 sra—Rufaefad! o
BT B forg |

(3) TCHETST & oo+t wedl & fory der amedgan
H gurR F=A & fag |

(4) @7 o & forg S=a fafredr gifdeag
HH B oy |

() srg<afa g

IRIIRRTES §WM (PTH) &1 987 310 & —

(1) sgfer wma &1 Mafa et

(2) o dfoaw R B 9 T

(3) & Hfceraw WX & g@rFT

(4) HIfETH HT TN qg=T

(5) Irg<Rd U

HUBHI T¥I YUTSA (vertebrate visual system)

& IR ¥ 9 F & S sod |@Ey &7

(1) S PIRGY I TDhTe—HIeTeiar axdt
g 3N HT o ¥ gfe & forv Sewerd
BT 2 |

(2) sfifees 79 e o IgUeR FR@RIT B
Uil ¥ §9T 21

@) ®F BR@N Fe HRGRT B o F
afern Haeeiia &t ¥ ofk wfy gfe &
oIy STRer & 2

(4) <fs PIRBN 37 gfe & fom SoRer &
€ 3R ISl # FeY 30T F BNl © |

() srgaiRa ue

65 -
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50. Name the stain commonly used for Transmission
Electron Microscopy -

(1) Uranyl acetate

(2) Hematoxylin & Eosin Stain
(3) Periodic Acid Schiff

(4) Gluteraldehyde

(5) Question not attempted

51. Which of the following is a common oxidizing
agent used in the COD test to determine oxygen
demand in wastewater?

(1) Sulfuric acid

(2) Potassium dichromate (K>Cr.07)
(3) Oxygen

(4) Chlorine

(5) Question not attempted

52. The lymphatic system plays a significant role in
the absorption of which nutrients?
(1) Fats (2) Carbohydrates
(3) Minerals (4) Proteins
(5) Question not attempted

53. Which of the following characteristics is not
associated with Phylum Echinodermata?
(1) Radial symmetry in adults
(2) Tube feet for locomotion
(3) Water vascular system
(4) Exoskeleton made of chitin [=]
(5) Question not attempted

54. Which of the following factors primarily inhibits
neurogenesis in many regions of the brain and
spinal cord?
(a) The absence of growth-stimulating cues
(b) The influence of neuroglia, especially

oligodendrocytes

(c) The proliferation of astrocytes
(d) The availability of stem cells in these regions
Choose the right option -
(1) (a), (b), (©) (2) (a), (b), (d)
(3) both (b), (d) (4) both (a). (b)
(5) Question not attempted

50.

51.

52.

53.

54.

STAMTA Folacid AShIEpIdl & 7T TR oY
TR Y S aTel W BT A9 9aqTg —
(1) e wiiee

(2) encifafer ve geifm w2+

(3) faRafs®s s B

(3) ToRfcseEss

(5) saRa uea

AR O H MR &1 71 FuiRa o=
& forg COD odieror & SuanT fvar o arer
gmmaﬁfﬂﬁw@'—dﬁmﬁaﬁﬁﬁﬁaﬁﬂw
>

(1) worgRe e

(2) g SIEHHe (K2Cr09)

(3) siferdToT=

(4) T =

(5) argaRa we

aeT dF fha dive dw@l @ srEwiyer i
Ayl AT fHrar 87

(1) g1 (2) FEEEST
(3) @fr= (4) uré=
(8) IrgaRa wed

ffeRaa § A @991 01T FiceR T9ST ared

Sigall (Phylum Echinoderma) & <fafere =781 27

(1) Tawni # Boares wafEfa

(2 wfy & fog o=@ wie

(3) oo aifewrm a

(4) w13feT | 911 IRABBIA

(5) srgaRa ue

f=faRad A | S99 dRS & wY F ARasD

di 9g B TG B B A A <ROERE B

qiferg wRar 87

(a) IE—TTASTD Fabdll I AaRAT

(b) T &1y, fAdy w5y |
JfferTegEed

(c) TRETHATSSH T TR

(d) 39 &3 H H BINERI H UGS

e faded g —

(1) (a), (b), (c)

(3) I (b), (d)

(5) rgaiRe g

(2) (a), (b), (d)
@) T (a), (b)

65 -k
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55.

56.

57.

58.

What factor triggers the growth of the prostate
gland during puberty?
(1) Prolactin (2) Estrogen
(3) Growth hormone  (4) Testosterone
(5) Question not attempted

What is the role of the matrix in MALDI?

(1) Tt absorbs UV light and transfers energy to
the analyte

(2) Tt neutralizes charged species in the sample

(3) It fragments the sample into smaller ions

(4) It acts as a solvent for the analyte

(5) Question not attempted

The selection rule for vibrational transitions in
infrared spectroscopy requires what condition?

4]
(2)

The energy gap must be in the UV range
The dipole moment of the molecule must
change

(3) The molecule must have an unpaired

electron
(4)

The transition must involve an electron
transfer

(3) Question not attempted

Which of the following statements about the

structure of the sarcomere in skeletal muscle is

CORRECT?

(1) The H-zone contains only actin filaments.

(2) The Z-line marks the center of the A-band.

(3) The I-band contains regions of thin filaments
that do not overlap with thick filaments.

(4) The M-line is located at the junction of two

sarcomeres. EZE
(3) Question not attempted O

55.

56.

57.

58.

digd & SRME URee U @ gig &1 e

HRG AfhT BT 87
(1) Hreifde

@) gy eHE=

(5) arTERd we
MALDI # #fgaa &1 a1 fver 27

(1) 78 g1 v &1 @eiid &Rar 8 IR
fIeciy® BT oIl RIHIGRT BT &

(2) @ A A AR gonfodl $1 9o HRa
8

() TE T BT B Il | g dvar ®
(4) 78 fvows & fay fAame & w0 § ard
HaT B

(5) srgafka u=A

SIPINE WIgHUT H Hud Fhqor & =a+ fH
@ oy fe Rafy &1 srgsaear sy 27
(1) Sl siaa g I § g =Ry

(2) 3o &7 fgyda &vr g ARy

(3) 3] d v YFAT goiaei= B =Ry
(4) GhHAUT H Folagl IUFIARYT IS AT
ElRN

(5) srg=iRa wed

FefaRea & @ oo #eaRe)
(skeletal muscle) ¥ ARBIHIR & G¥E9T B IR
H BITAT BT GE 27

(1) H-& (H-zone) ¥ ®adf Ufden fharicy a9
g1

(2) Z@1, A-d8 & Bg B g &

®) 145 # uda fhemicy 8% € WY AR
fhemicy & w1 favey 78 Hed |

(4) M1 S ARPFRR & See 1) Rerd g
T |

() gRd gz

(2 T
(4) TERSIA

65 -
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99. Which of the following statement is true
regarding neoteny and paedogenesis in
Amphibia?

(1) Neoteny is always
paedogenesis permanent

(2) Neoteny is common in higher chordates

(3) Neoteny refers to the attainment of sexual
maturity in larval form, while paedogenes
involves retention of larval characters in
adults

(4) Axolotl is a classic example of neoteny in
reptiles

(5) Question not attempted

reversible, while

60. Which of the following cytological features is
NOT typically used in cytotaxonomy?
(1) Karyotype
(2) DNA sequence alignment
(3) Chromosome number
(4) Chromosome morphology

(5) Question not attempted

61. Which of the following types of receptors is
primarily responsible for detecting painful
stimuli?

(1) Proprioceptors (2) Mechanoreceptors
(3) Nociceptors (4) Thermoreceptors
(5) Question not attempted

62. Which of the following DNA repair mechanism
is primarily used to fix UV-induced pyrimidine
dimers in humans?

(1) Mismatch Repair (MMR)

(2) Base Excision Repair (BER)

(3) Nucleotide Excision Repair (NER)
(4) Homologous Recombination (HR)
(5) Question not attempted

63. Student’s t-test is used to -
(1) Measure correlation
(2) Analyze categorical data
(3) Compare the means of two populations
(4) Compare the variances of two populations

(5) Question not attempted

=]k =]

it

9. 71 4 W S HUF SHITRI (Amphibia) ¥
e (Neoteny) R EISISEIRSES]
(Paedogenesis) & Hag H Wal 87
(1) PR &9 4= 9ave vy § qRafda &
FHdl B, g dreomia wmf 2rdt 8

(2) faReN 3= siseyd § 9H= 8

(3) e & el sraven # d9 uRuzar urg
BIdl 2, Siafd Mo § agwsi § araf
SeToT 99 T8 B |

(@) yrelled Yersa § e e Soe
FETERT 2 |

(5) xR ueH

80. F=feiRea & & @901 GG
(Cytological) fererear, Arsere R
(Cytotaxonomy) H AHFIT: UIad =&l ardl 82
(1) HRarersy
(2) €AY 37gHpH WY@ (Sequence alignment)
(3) TUrgE =T
(4) TorgE HTHTRB!

morphology)
(5) IrRd ueA

61. fy=forRag # 4 s RA<eY & wU 4 <&
SOl B UgaEa @ fory e R g 87
(1) Wity (2) FpaRT<eyd
(3) AR (4) eiRE=d

(8) Ig=iRa ueA
62. fyefoiRaa # 4 @ET DNA #R¥™d a3
(repair mechanism) H& B®U A uvaRa
IR SEF @ 31d dxd @ forg A=l |
ST BT e 87
(1) g RuaR (MMR)
(2) ¥ yaRie= RUax (BER)
() Yfaerdiezes vadRHE RITR (NER)
(4) gmrerma RaiffaeE (HR)
(5) srg<IRa ueH
63. Student’s t-test BT ITAN fHas fog fear Smar
g7
(1) weHea 794 & forg
(2) =rvfrag e &1 fAgamor
(3) <1 FTAEERI & S @ eI
(4) <7 SaEERl & =R @ g

(5) 3rgaRd e

(Chromosome
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64.

65.

66.

67.

68.

69.

70.

The microtubule associated protein responsible 64
for movement of cilia and flagella -

(1) Condensin (2) Myosin

(3) Dynein (4) Actin

(5) Question not attempted

Which of the following is not a type of 65
connective tissue?

(1) Cartilage (2) Bone OEAD
(3) Smooth Muscle  (4) Blood &%
(5) Question not attempted

]

Which factor is NOT a major determinant of soil ~ 66.

depth?
(1) Parent material
(3) Weathering

(2) Slope
(4) Soil colour
(5) Question not attempted

The TGF-B family includes which of the 67

following mesoderm-inducing factor?
(1) WNT-1 (2) Activins
(3) bFGF (4) BMP4
(5) Question not attempted

Which of the following structures is responsible ~ 68.

for the storage and maturation of sperms in the

male reproductive system of mammals?

(1) Prostate gland (2) Seminiferous
tubules

(3) Vas deferens (4) Epididymis

(5) Question not attempted

Troponin complex regulates muscle contraction 69

by -

(1) Blocking ATP binding sites

(2) Covering the actin-myosin binding site

() Binding calcium and moving tropomyosin
(4) Stimulating sarcoplasmic reticulum

(3) Question not attempted

Which of the following diseases is primarily  70.

associated with cadmium poisoning?

(2) Blue Baby
Syndrome

(4) Blackfoot disease

(3) Question not attempted

(1) Minamata disease

(3) Itai-Itai disease

- EHHfTET ¥ ST YIEH S Wifera &R weioten

&1 i & forg R & —

(1) H==R= ) =R
(3) st (4) vfdes
(5) argRa sz

- fr=fafad § @ @9 Guel oae 981 27

(1) 3urfRer (2) arfRer
(3) fusm=r ATaUh (4) o
(5) FgaRda e

DI BRE FE B TEIS BT ygE FuRe
REIRT

() ger | (2) gar=
(3) 3rgery 4) fagr &1 <
(8) srgaiRa we

TGF-p uRar # fa=foRed & ¥ &
A SH—URG HRE A 87

(1) WNT-1 (2) vfgefdw
(3) bFGF (4) BMP4
(5) argaRa we

FrefafRea # § o9 daar e ) o
9= H g1l & WeR R yRudear @ fag
ISR 87

(1) ur<e Tfy ) AT cgege
(3) T fewmyw (4) vfofsfsfAa
(8) srgaiRa we

Frafaa wwar 87

(1) ATP 9B Age & <fd oxd

(2) vfdeT—aaRE SERET |se o g6 %
(3) Dfczas & Fuex SUETARE BT geTHR
(4) ATTtsAs eqem I Sl ava

(5) srgaRa we

fFr=feRad # & s A g w5 @ defam
fRvTedar & g &7

(1) fAamreT < () = 9t RigH
@) FeE-SEE I (3) Kbye I
(5) gaRd ueq
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71.

72.

73.

74.

What is the role of angiogenic factors in vascular

development?

(1) They only play a role in wound healing, not
in embryonic development.

(2) They restrict blood vessel growth to prevent

overdevelopment.

(3) They promote the generation of new
branches in capillaries.

(4) They dissolve excess blood vessels to
maintain equilibrium.

(5) Question not attempted

What is the effect of increased levels of PTH on

calcium reabsorption in the kidneys?

(1) Reduces calcium reabsorption in the distal
tubules.

(2) Has no effect on calcium reabsorption.

(3) Stimulates calcium reabsorption in the thick
ascending loops of Henle and distal tubules.

(4) Increases calcium excretion in urine.

(5) Question not attempted

Which of the following pollutants acts as a
precursor in photochemical smog formation?

(1) COz and SO2 (2) NO; and VOCs

(3) PM2.5 (4) CHs and CO

(5) Question not attempted

Membrane fluidity doesn’t play an important
role in -

(1) Formation of intercellular junctions
(2) Endocytosis

(3) Membrane assembly

(4) Cell division cycle

(5) Question not attempted

EFE
TEm

71

72.

73.

74.

Hagll fadm § iRmEnie sret @ g

qffer 87

(1) 9 ®9dt =19 R F JfFer B € gor @
fawra # w2

(2) 7 srfafer @1 A & U ad afze
gl @I ufddfda sxa €1

(3) 7 Bl # 95 TR B N B qerEr
<d €1

@) 7 Hgem T 3@ @ oy sfiRed vam
qIEBIST BT W BT £ |

(8) rgaRa g

T H dfeergd g=: 3@eiyor ' PTH & 9¢ &

AN BT FT Y9I gedl 27

(1) ey Al § bfeead 4. raeiyor &
FH B B |

(2) ®feergd g AT R HIE Y9G FEl
Yedr |

(3) 27t 3R xRy Al & Al IRE! oUW
H hfcRrad g Jygeiyyl Bl F7frd wRal
g

@) 73 % dfozrm IS BT gemT 21

(5) IrgaRa gz

=1 # | B BIeibAda ST FE & srrgd

Uqu® &7
(1) CO, 3R SO, (2) NO, 3R VOCs
(3) PM2.5 (4) CH,3RCO

(8) srgRa Uz

fRreeht &1 arorar F=faReaa § meagel yffer
81 o 2 —

(1) FRPIVBHT SaeE &1 FHHo

(2) JerargeiRiv

(3) fereett HaH

(4) PifRrep1 fA9TST =%k

(5) aRa u=
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75. In mice, the Igf2 gene is subject to genomic 79 &I H Igf2 SiF SiHIA® MUY & rfi= 2|
imprinting. Which of the following statements is fr=fead 5 @ oibar s Ig2 @1 sifveafaa
TRUE regarding the expression of Igf2? (expression) & aR H A &7 _

{1} Tef2 is exprosseil only from. the matemally (1) Igf2 @adt AIgadi (maternally inherited)
inherited allele. Seflet ¥ T §i E |

(2) Igf2 21T Telle ¥ WAM ®Y W Fad il

(2) Both alleles of Igf2 are equally expressed. Ny

(3) Igf2 is expressed only from the paternally @ Igf2 o0 e (patemally inherited)
inherited allele. Teie 3§ T BIaT &

(4) Neither allele of Igf2 is expressed due to ) 3T & BROT Igf2 Tt 0 T & arad
imprinting. 81 Brar|

(3) Question not attempted (8) Srg<iRd ueA

76. What is the function of the prototroch in  76. ZHIHR oAl H NEIgId BT T BRI &7
trochophore larvae? (1) gg yrg 4 Agg BT ©
(1) It helps in digestion (2) g7 7fy 5 Ferrar &xar 2
(2) It aids in locomotion (3) 78 U ISP WNEAT B w9 H HTI HdT
(3) It functions as an excretory structure B
(4) Tt acts as a sensory organ (4) g8 Udh W<l 31T & wY § BRI Pl &

(5) Question not attempted (5) =R uwA

77. Which of the following animals exhibits 77- fr=ifoRad § & Bi=ar uof TR o1 fasra
holoblastic, unequal cleavage during early @ TRM  EllReD, S EHE  faWreE
embryonic development? (cleavage) Teriam &7
(1) Sea urchin (2) Amphioxus (1) ¥R HEr (2) Ufthairaas
(3) Frog (4) Chick () Hew (4) =fi
(8) Question not attempted (5) srgaiRa e

78. What key information does the chemical shiftin  78- THUHaTR HFeRBdr § e geaa @
NMR spectroscopy provide? H2E SO SR UG HRel 87
(1) The physical state of the sample o (1) 9 @1 Hifos Refy
(2) Nature of functional group [=]; (2) S TE W yBfy
() The number of protons in a molecule () 31 F Uie @t e
(4) The exact molecular weight of a compound (@) Fiffes &1 FSh aNas IR
(8) Question not attempted (5) Irg<iRd ue

79- Which of the following is used as a radioactive 79 3FSRISATA 3§ frey # ¥ wrrar WSt TR
tracer in autoradiography? @ WU H YA fhar ar 87
(1) Phosphorus-31 (*'P) (1) BiEpRE—31 C'P)

(2) Carbon-14 (**C) () Br-14 (4C)
(3) Oxygen—16 ('°0Q) (3) SfTRATST—16 (1°0)
(4) Nitrogen—15 ('°N) (4) ATSgIT—15 (°N)
(5) Question not attempted (5) SrgaRda gw=
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80.

81.

82.

83.

84.

85.

Which of

homologous recombination?

the following best describes

(1) The deletion of non-coding regions in DNA

(2) The exchange of genetic material between
identical or similar sequences

(3) The direct transfer of plasmids between
bacteria

(4) A type of mutation caused by radiation

(5) Question not attempted

Which of the following is the main storage 81

polysaccharide in animals?
(1) Chitin

(2) Cellulose EEE
(3) Starch- (4) Glycogen %&
(5) Question not attempted
Which of the following statement about 82

Schwann cells in neurons is correct?

(1) Schwann cells are a type of neuron involved
in synaptic transmission.

Schwann cells form the myelin sheath
around axons in the peripheral nervous
system.

Schwann cells are responsible for generating
action potentials in neurons.

Schwann cells form the myelin sheath
around axons in the central nervous system.
(5) Question not attempted

Numerical taxonomy was first proposed by —

(2) Engler and Prantl
(4) Sneath and Sokal
(5) Question not attempted

2

(3)

(4)

(1) George Bentham

(3) Carolus Linnaeus

Which of the following is NOT a symptom of
botulism?

(1) Slurred speech
(3) High fever

(5) Question not attempted

(2) Muscle weakness
(4) Double vision

In which stage of RBC development, synthesis
of hemoglobin begins?
(1) Proerythroblast
(3) Erythroblast

(5) Question not attempted

(2) Mature erythrocyte
(4) Reticulocyte

83.

84.

85.

80. f=forRad ¥ W &H sHIGg Reiftgas=

(Homologous Recombination) & Hay 3l

ave Ry wear 87

(1) Sivay # R—mpifeT
(Non-Coding Regions) BT eI

(2) W9 g1 FARY FgHHI (Sequences) @ I
STAfRe AT BT TEF—Yar

(3) EIRYT & dIF WRAS &1 Jge] AR

(4) faferor (Radiation) & HRYT A 84 aTell
TUh YhX DI IaafRad= (Mutation)

(8) srg<IRa U=

ggell W TgE HSRU OlANaNIES

(Storage Polysaccharide) P9l &7

(1) ®13feA (Chitin)  (2) AGelS (Cellulose)

(3) T (Starch) (4) TATSHISH

(Glycogen)

(5) <IRd U

R H waH PIfBHT3IT (Schwann cells) & TR

= ¥ B9 $UF 98l 87

(1) za= HIRENY T THR S G BT € S
fRftees FoRor & 9rT okl € |

(2 g PR g G O3 § serdg
@ IRl R FAfE =E 497 € |

(3) g9 HIREN IR H VRE GeRiad
I~ B B forg e R gl 8

(@) vaF PRGN S deT o § g
(axon) & TRT 3R ARAfA == A 2 |

(5) srgiRa wed

wikegem  afifed!  (Numerical Taxonomy) &1

URATd @I Ul fhae fdar en?

(1) Sfst dem (2) iR 3R Uiead

(3) oo oiffma (4) g 3R dHied

(5) raRa weA

e # QB digforsT &1 @err T8 87

(1) dem ¥ deasHT (2) ARURRET B
HHSINT

(4) <l gfe

&rl

(3) Tui gER
(5) SrgeiRa ued
IRES e & g @ § fHrafea &1

GESE LRI 1
(1) ueRei=are (2) uRux vRewEe
(3) TRTeART (4) MeqmaraEe

(8) SFIRT U
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86. Duchenne Muscular Dystrophy (DMD) is an
X-linked recessive disorder caused by mutations
in the dystrophin gene. Which of the following
statement is correct regarding the inheritance and
genetic mechanism of DMD?

(1) DMD is caused by a gain-of-function
mutation in the dystrophin gene.

(2) A female with one mutated allele will always
show full symptoms of DMD.

(3) Male children of a carrier mother have a 50%
chance of inheriting DMD.

(4) All daughters of an affected male will be
affected.

(3) Question not attempted

87. In SDS-PAGE, proteins are separated based on
which property?

(1) Tsoelectric point

(2) Shape .
(3) Charge DED

(4) Size/molecular gz
weight Em
(3) Question not attempted
88. Which of the following processes is mainly
responsible for the removal of organic matter in
secondary wastewater treatment?
(1) Disinfection
(2) Biological degradation
(3) Sedimentation
(4) Filtration
(5) Question not attempted
89. Which of the following statements about DNA
replication in E. coli is correct?
(1) The lagging
continuously.
(2) Helicase DNA2 unwinds the DNA at the
replication fork using ATP.

(3) DNA ligase synthesizes new DNA strands
by adding nucleotides.

(4) DNA polymerase Il has 3’ — 5’ and 5° —
3’ exonuclease activities.

strand is  synthesized

(5) Question not attempted

90. Which of the following processes is not directly
involved in the carbon cycle?

(1) Decomposition (2) Nitrogen fixation
(3) Respiration (4) Photosynthesis
(3) Question not attempted

86.

87.

88.

89.

90.

S Atqer (M e X-—folgs RaRma

faer 8, o feifh= o9 # SaRad= & aru

grar & | f=feilRad & 9 o9 @29 DMD &1

Il 3R AR 93 & ded d A8l 27

(1) DMD &% M 3 I9—siio—haRe
SalRads & HRoT T 2

(2) vs wfzer fod ve swRafia weliar &,
g% 89T DMD & quf ofefor fewamgefy |

(3) Ts arEd #f & gAl BT DMD & B 50%
GEICE IS

(4) v yaifaa gow &1 it 9fedt wnfaa &

(5) argailRa we=

SDS-PAGE # Uiél=g & f& 07 & MR R

9y (separate) far Srrar 87

(1) wHfaeEe fdg (2) PR

(3) amasr (4) 3R /3nfas 9R

. (5) srgalRa weA

fediige smfdte Wi wu & @rafae gerell o

BT @ I UHHAT ST 8°

(1) @rereies

(2) Sifaw sgaeH

() dBe TeT (AfFHIIM)

4 =T (fregem)

(8) SrgaRd o

fFefaRed § @ E coli § DNA PIRCAR]

ggNA replication) & IR H BHITAET AT TEl

(1) i1 ws ¥dd ®U A (continuously)
Heela grar 2|

(2) gfdst DNA2, ATP &1 SUdlT &
UiIHIA WIS (replication fork) YR DNA &1
IFATSS BT B

(3) DNA forlwl, <gfeeegsd Wisey Y
DNA ¥ & U9 Hxal 2 |

(4) DNA Uil I § 3° 55 3R 5" > 3
THl gagfaeSt Tfafafet g el

(5) raRa ge=

frr=rfeaa & 9 =i wfthar e &6 = A

iR A8 87

(1) ergges (2) g Rerdiexor

() wgu+ (4) gTer HIeluoT

() srgaRd g
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1.

PART-B BIOCHEMISTRY

Which of these is not true for Thalassemia?

(1) In alpha (o) Thalassemia there is over
production of gamma (y) and delta (8) chain

(2) Hb is normal but alpha (c) or beta (B) chain
1s reduced

(3) Beta
synthesize enough amount of HbA

(B) Thalassemia patients cannot

(4) Bone marrow transplantation is the only cure
(5) Question not attempted

1. g & ford A & o wd =) 27

M et (o) A & I (y) 9 <o
(8) HEeT P e IereT BaT &

(2 Hb ¥MMI BT 8 W Ul (o) 9 drer
(B) e o w2

(3) drer (B) Sorfifir & w91 savaes wET H
HbA T HIelUU F&l &% T

(4) R Foo &1 yfoRUYT U q4y SR &

(8) srgaiRa wed

2. Polyploidy results from failure of - - ggYforar (Uleiaiize)) fva &1 favwerar &1 R
(1) Transcription &?
(2) Cytokinesis () grefper $1
, (2) HIREET— TS B
(3) Chromosome segregation
o (3) IUREF GAFHROT @I -
(4) DNA replication (4) DNA wfgRy &
(5) Question not attempted (5) srgaRa we=
3. Waldeyer ring is - - glesTR BT 7 —
(1) Bronchus associated lymph tissue (1) diww Haftg fors 9@
(2) Cutaneous associated lymph tissue (2) c=r wdfg fors Saa
(3) Nasal associated lymph tissue (3) 916 ¥ TefT o <9
(4) Gut associated lymph tissue OE40) (4) a9 SR fores 3T
(3) Question not attempted g:r : (5) argaRa wed
4. IgA is predominantly found in - - IgA &= ®©U ¥ Hal gl Al 87
(1) bone marrow (1) 1Rer Ao #
(2) cerebrospinal fluid (2) aRa=HHs aveT H
(3) seromucous secretions (3) WRgHY Fral
(4) blood serum (@) v A=A H
(5) Question not attempted (8) arg<Rd ueA
5. Which of the following methods can be used to - gRAIZCH Ud WA T DIRGRT BT T
separate erythrocytes and white blood cells? & & fog =1 5 & s fafy TgH B S
(1) HPLC and Electrophoresis well &7 .
(2) HPLC and density gradient centrifugation e HPLCQH- :
= (2) HPLC UG =BTcT YaUTal 3 albroT
(3) Electrophoresis and FACS (3) SOFRIERRN Td FACS
(4) FACS and density gradient centrifugation (4) FACS U9 ©-cd UIUTAT T alhRo]
(5) Question not attempted (5) AR wee
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6. CD8* T-cells can recognize the antigens, if - 6. CD8* T-®IR®TY Uil &l ygar & el
(1) Antigen is present on body surface g a9 -
(1) yfas IR @1 Ads R IuRerd &
(2) presented by MHC-II molecules _
(2) MHC - II 3ol gRT 9¥d fopar img
(3) presented by MHC-I molecules (3) MHC — 1 3703 §RT e Rvam g
(4) they are free antigens (@) 7 wRe 8
(5) Question not attempted (5) @ﬂﬁﬁa o
7. Melting Temperature (Ty) is - 7. TAEAIH A9 (T) & —
(1) Temperature at which half of the DNA (1) o (B )R Sivay & omll wsfer
helical structure is lost. G A9 8] It 8|
(2) Temperature at which complete DNA (2) auIE o9 @) ST @) il HR
helical structure is lost. qUid: T 8l SRl |
(3) Temperature at which C=G bond remains (3) aroH 59 O C=G 99 §911 &1 & UReg
intact but A=T bond is lost. A=T 99 &9 & ST & |
(4) Temperature at which A=T bond remains @) TroEE 519 0 A=T 99 991 38ar 8 IR
intact but C=G bond is lost. C=G €Y &7 & Srar g1
(5) Question not attempted (5) 3rg<iRd Uz
8. What is the approximate Van der Waals contact 8- 3ifqRfioi Td @1 QRATY] & drd 99 S dred
distance between an oxygen atom and a carbon HUdh G T fHan 2 27
oy (1) 0.28 nm (2) 0.36 nm
(1) 0.28 nm (2) 0.36 nm (35 8 e i o i
(3) 0.32 nm (4) 0.26 nm ' ’
(5) Question not attempted ®) SrgeRa v
9. What specific sugar moiety is linked to ceramide 9 Bl falre wawr swfer (@R) WRame @
to form cerebroside, a glycosphingolipid found JeY WANMISS gl 2, o b uw
characteristically within the plasma membrane TARHIRGAIANE & ST d¥aT Sde &1 e
of neural tissue? fSreetl & <etfores w9 9§ 9 Siar 27
(1) Galactose HEE (1) TS
(2) N-Acetylgalactosamine &% (2) N—vReEaidaea™H
(3) N-Acetylglucosamine [=; (3) N—tRiesarg@mam=
(4) Glucose 4) @
(5) Question not attempted (5) sraRa us
10. A transmembrane protein always consists of one ~ 10. U ZREM WIAT # 9em & 41 e 9
or more - S € —
(M o-helix M o-zferex
(2) Parallel Beta-sheets (2) AR drer hew
(3) Antiparallel Beta-sheets @) ufreEaETR der Eﬂa?
(4) a+B domain (4) o+ Br=
(5) Question not attempted (5) rgaRa wed
65 - K Page 20 of 48
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11. Which of the following amino acids does not 11 fy=faRaag & & 5w i and @) Hvg=T §
have an aromatic R-group in its structure? WHds R—98 8 grar 87
(1) Threonine (2) Tryptophan (1) fonifa= (2 feed
(3) Phenylalanine (4) Tyrosine (3) wfraver= (4) PRI
(5) Question not attempted (5) IR e
12. The mutagenic effects of X-rays was first 12 fFae vea—fadwol & SaRadsa waE @1
observed by - TdUeH ST AT?
(1) T.H. Morgan (2) H.J. Muller (1) Aya. "@FEH (2) TaSl. ok
(3) L.J. Stadler (4) C Auerbach (3) TaI ol SR (4) M. sifeRas
(5) Question not attempted (5) srgaRa e
13. In liver function test, bilirubin is measured to 13- THT & FHATHS YL 4, fAfewiad &1 A9
estimate which of these? T A fwar srgam e @ ford faar e
=4
1 . - a0 & .
(1) excretory function of the liver , () e @1 St @
(2) Metabolic activity of the liver [=] % =] (2) IHa @1 U=y fFHar
(3) To assess hepatocytic injury El{ftiﬁ (3) IHd & BIRTERAT H g &lfcd Bl STAT
, R . =
(4) To assess red blood cell destruction i S & e 8 bl
: S
(5) Question not attempted (8) srgaRa we
14. Acute graft rejection is primarily mediated by 14 fig ude =Pl & wu A By ufeen
which immune cells? PIRIBT GRT TR BT &7
(1) Macrophages (2) Natural killer cells (1) Hprhst @ e I, R
(3) B lymphocytes (4) T lymphocytes 3) & BrErEe @) & ez
(5) Question not attempted (5) srgaRa weA
15. Enzymes encoded by different alleles, that have 15 T=aITgH Sl fo=1 grAfadedt q BIs B &, STD]
identical origin but differ in certain properties IOl A Bl § W Ea3g SRR e
like molecular weight, catalytic rate etc. These AP YR, SORG fhar &1 &= =1 8Kl 2 |
enzymes are called - T UHR & TolIgAl I 70T Hed &7
(1) Isoenzyme (2) Ribozyme (1) IrsFT~8q (2) wrsdIeTSA
(3) Alloenzyme (4) Coenzyme (3) TAIg=ITSH (4) HEy=sH
(5) Question not attempted (5) 3<IRT W
16. In plasma membrane, Phosphatidylcholine and  16. wefros RBreel  #  wiefefsaaeE @

Sphingolipids are confined in which layer?

(1) OQuter lipid layer

(2) Inner lipid layer

(3) They are mainly concentrated in outer layer
and less concentrated in inner layer.

(4) Evenly distributed in both outer and inner
lipid layer

(5) Question not attempted

Remifaftew fea wa # ffea <=a 87

(1) 988 9491 oxd

(2) oriaRe g9 URd

3) A g=7 ®Y W | WRd H 9 IMRF R
H ®H B 2

(4) aniaRe g 9Ted I9T IRd # dx1ER REd ©

(5) Srf<IRd w3
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17.

18.

Which of these is a sequential process of gene
arrangement for A chain of antibodies?

(1) Transcription — VDJ joining — RNA

17.

1 4 uftrel &1 A gfwen @ ford S| &1
HHIE AT HIAT 87
(M gt — VDJ SifsHT  — RNA

splicing — Translation AT RTT— Sdra-

(2) DJ joining— VDI joining— transcription— (2) DJ STEfT— VDI ST — gfdeET —
translation ECIEE|

(3) VJ joining— transcription— RNA splicing @) vi SigFT - "ufdelm — RNA

—translation
(4)
(3) Question not attempted

RNA splicing — VJ joining — translation

Chemicals used to prepare Tracking dye for
SDS - PAGE are -

(1) Tris-Glycine

(2) 2-mercaptoethanol and Electrode buffer

(3) Bromophenol blue and Electrode buffer

(4) Coomassie blue and Methanol

18.

AT T Jdra-
(4) RNA WesfitT— VI ST — arared
(5) Srg<iRe Ue
SDS-PAGE ¥ ¢fb T ©18 & AT # yyae A
2
(1) fea—vorgd=
() 2-APhEIgH Td goaRis quR
() FHBHA < Td SIS R
(4) HAY g 9 B

. (=] [=]
(5) Question not attempted e s (5) argaRa we
. : LI
19. FACS is a technique - 19. FACS U T&iId & —

20.

(1) uses antibody conjugated to fluorescent
marker to locate specific structure

(2) to sort cell based on antibody-binding

(1) gfadifeTelia a1 9 wgfag RS &
faR¥re WE=m &1 e wEe § SuEnT &
ferg

(2) NSl S @ oneftre  fAaevanet @

characteristics
(3) used to visualize virus particle with virus- PELEN ] .
d HT2T -\q'gf?qa ﬁm_ﬁﬁ@ TS
specific antibodies conjugated to gold
¥ U] For B gEEE A B forw

(4) to identify protein using antibody-enzyme
conjugate

(5) Question not attempted

Which of these bacteria is responsible for gas
formation from lactose during milk spoilage?
(1) Bacillus sp and Proteus sp

(2) Klebsiella sp and Enterobactor sp

(3) Lactobacillus sp and Streptococcus sp

(4) Clostridium sp and E. Coli Sp

(3) Question not attempted

20.

(4) UEEIEI—USTsH | BT SYANT B WidH
Pl UBIE HA B oY

(8) 3rg<iRd U=

= d @ 2w SiE] g @ ged @ eRE

dgere 9 T & Sded @ R SoRer) &7

(1) e g wifegs wify

(2) Forefigar T geRdee wifa

() ceeRed T Beidied g

(4) FAREfeTw 9 €. B ofd

(5) srgaRa wea
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| 22.

25.

21.

23.

24,

Which of the following best describes allosteric

regulations of enzyme?

(1) It functions through irreversible, covalent

binding of allosteric modulators.

(2) Regulation of enzyme synthesis at the
genetic level.

(3) Covalent modification of the enzyme by
adding phosphate groups.

(4) Binding of a molecule at a site other than the

active site that changes the enzyme’s activity

by altering its conformation.

(5) Question not attempted

Three genes A, B and C are linked. Assume
the A-B distance to be 3mu, B-C distance
2mu and A-C distance 5mu. The expected
double cross over frequency would be -
(1) 0.006% (2) 0.0006%
(3) 0.6% (4) 0.06%

(5) Question not attempted

Which of the following is a non-coliform
bacteria?

(2) Klebsiella sp.

(4) Escherichia sp.

(1) Citrobacter sp.
(3) Salmonella sp.
(5) Question not attempted

What is an Abzyme?

(1) A type of enzyme involved in immune
responses.

(2) An antibody that has catalytic activity.

(3) An enzyme that catalyzes the breakdown of

antibodies.

An enzyme that is inactive in the human

body.

(5) Question not attempted

(4)

Binding energy is, the energy derived from
enzyme-substrate interaction. It is a major source
of free energy used by enzymes to -

(1) to raise temperature for catalytic reaction

(2) elevate the activation energies of reaction
(3) to equitate the activation energies of reaction
(4) lower the activation energies of reaction

(3) Question not attempted

[m]ZisE

21,

22.

23.

24,

25.

fFefeRad # 9 @A dogEl 8 g Re

|9 &1 [a 37esT Ui dedr &7

(1) 78 ToReRe Argyeier &1 ek,
eI 499 ERT BRI Rl & |

(2) rgaf¥rs WR W UAIEH GG Pl
fafrm=

() wiEhe AYE ISP Yoed &I Aeado
HeieH |

(4) dfha v & aretmar 6l 3 e &) F
I HT FEH, W TARH @ G Pl
gecTa] sHD! AR BT Feaar 8|

(5) ergaRa ued

a9 S A, B Ud C @sad 2| A P

A-B & # g 3mu, B-C & #&0 g

2mu Ud A-C & He9 g3 Smu €| Ifdrd ey

fafsrg & smaRy @ Bnf?

(1) 0.006% (2) 0.0006%

(3) 0.6% (4) 0.06%

(5) sgaRa we

fFr=fafad 3§ 1 @19 g IR—dlendd siary]

g7

(1) fygieaer sifd (2) FoaRgen afa
() areHFEr Sf (@) sf¥aRfHer wfa
(8) 3rg=fRa wea
QeailgH T &7

(1) uferen ufafhaet § wnfie @ veR &1 &1
TS |

(2) ve TAEET Rorad Sore fafafy e 81

() T UurgH Sl UEEIS! & Ted Bl IaIRd
BT B |

(4) Ts Gorgd ol "9 INR § AfSpa sar 21

(8) arpaRa e

g9 SHull, TgA—haMR  I==afhar 9|

PO~ FHoll &1 TE T~IgH R IUANT by

qad Holl & U@ A &, aifds —

(1) TSRvr sfafeaneti @ fog amm # afg &

(2) sfafrar o afraor Sutell § afg &

(3) afyforar &1 wfhaer S FAMIEd &

(4) FfAfpar B FhaT SHold HH 8

(5) rgafRka ueA

65 -k

Page 23 of 48




26. Desmosine is derivative of - 26. WM U= © —
(1) Serine (2) Lysine (1) ¥¥= &1 (2) s=HE &1
(3) Arginine (4) Cystein (3) anfSif==1 @1 (4) R=<= @1
(5) Question not attempted (5) R U
27. Which of the following equation is Eadie- 27- 9 # ®9ar 9flewv TS-8HEl  wic
Hofstee plot equation? HHIENUT &7
S Vo= VM:?MX[S] i Vg = VMK::[S] = Vo = VMT{XMXES] g Vo = Vmi‘:[s]
@)y, = % @ Vo= Ky + Vprax @) v, = {T{T[[;] @ Vo = Ky 2 + Viax
(5) Question not attempted (8) srgaRda U
28. Match the lysosomal enzymes with their 28 AEHNIHS TIISH Bl S Fedgc & T
substrate — Qjﬁﬁlﬁ BRY —
Enzvme RESIEL
(i) Acid ribonuclease () uRrs gdRgfderRS
(i1) Phosphodiesterase (i1) PIRTSTSURNST
(iii) Lysozyme - (?if) Wa ERIGIED
(1v) Esterase &ﬁ-% (1v) :
Substrate (= RIRE
(a) RNA (a)) IMR.UA.T. i
(b) Fatty acid and esters i, AL g =
(c) Oligonucleotides (Phosphodiesters) © aﬁ@qﬁa?ﬁam (WW)
_ ; (d) HPIUIDISS (FIRar &1 I
(d) Mucopolysaccharides (bacterial cell wall) ﬁ?[ﬁ-[)
Correct match is - . W 8 _
pompamone e eweme
’ ] . (@) ()-(d), (ii)-(b), (iii)-(c), (iv)-(a)
@) ()-(a), (i)-(d), (iii)-(b), (iv)-(c) () (i)-(a), (ii)-(d), (iii)-(b), (iv)-(c)
@) (i)-(a), (iD)-(c), (iiD)-(d), (iv)-(b) (@) ()-(a), (i)-(c), (iii)~(d), (iv)-(b)
(5) Question not attempted (5) srgaiRa yeT
29. Which of the following statement is correct 29 =g § ¥ ST BU AT — TR —
about renin-angiotensin-aldosterone system? TosreR{ o4 @ forg way &2
(1) This system is activated by increased blood (1) SRR amaaT 989 § I8 95 9fhy aar 2
volume. " s
(2) This system increases reabsorption of Na* = R ‘Iida* . : TG &
(3) Aldosterone decreases secretion of K* in the A T H KD AT P EH
urine &
(4) Angiotensin is a vasodilator (@) SRR vs afesT fawrrs &
(5) Question not attempted (8) IaRd e
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30.

Which of these ribozyme is derived from E. Coli
cells?

(1) Hammerhead

Ribozyme
(3) RNase P (4) HDV Ribozyme
(5) Question not attempted

(2) Hairpin Ribozyme

30.

S, BHIcITg BIRDBIS H DT R[GaIoTgH Fed—~
BIaT &7

(1) gaves WgdlaEd () 2R gdeTsH
(3) IRTATS Gi (4) HDV igdregd
(8) rgxlka ue

31. The polymorphism of the HLA system provides  31- gaualy Uulell H dgwudl, GeAsidl  I1vad
a defense against microbial molecular mimicry SIHROT 3 fog <eT 9 UeH HRar &7
:)1); allowing T-cells to recognize unique () st -aﬁ S, B ]
specificities of their own faftrearatt =1 78 Tl Wﬁ AR
(2) inhibiting the production of MHC-peptide (2) THU=RT— UeTgS Aqell & SIcd1e- &l qiferd
complexes BB
(3) increasing the rate of antibody production (3) TGS SaE &) R TSI
(4) decrea:?l?lg the diversity of antigenic ) SR e i B o T——
recognition
(5) Question not attempted (5) ST w2
32. Agglutination reaction may be used for 32. FHga P fhar = A fFQ o dvd @ ol
detecting - SWANT &1 Sl 287
(A) Soluble antigens %E (A) gerreie wfcrot=
(B) Circulating antibodies in plasma E‘% (B) wirowT § uReEaRa wfored
(C) Naturally occurring surface antigens (C) UTHide wU § IR S drel Gdel frst
Options - @ —
(1) (A)is correct and (B) and (C) are wrong (1) (A) =&l 8, (B), (C) Tad &
(2) (A), (B), (C) are correct (2) (A), (B), (C)|El &
(3) (A) and (B) are correct and (C) is wrong (3) (A) Tr (B) @81 & (C) TaId &
(4) (A), (B) are wrong and (C) is correct (4) (A), (B) Teid & (C) Wal &
(5) Question not attempted (5) arg<iRa Uz
33. Which is the primary cause of Sickle cell 33. Ryamal Ja THHAT &1 Ul HROT @r 87
anaemia? (1) ey fa-lgn'{g BT HHHT
bhes i aanin @ fe w12 e
S het e : (3) SErefeE o F aRE Sfad
(3) Genetic mutation in haemoglobin gene
(4) Deficiency of iron (4) g @1 H
(5) Question not attempted (5) g e
34. Jaundice is a common sign associated with 34 HiferaT fFE UBR B FIHIeIAT A ST U ATHA
which type of anaemia? HeToT 27
(1) iron deficiency anaemia (1) < o<a &1 & A IJHAT
(2) Sickle cell anaemia (2) T BT 3RHAT
(3) Haemolytic and Megaloblastic anaemia (3) Emifafes vd AeRed IRl
(4) Thalassemia major (4) JerRfEar 75
(5) Question not attempted (5) argaRa wed
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35.

36.

37.

38.

39.

40.

How many hydrogen bonds are there between
DNA and the histone core in each nucleosome?
(1) 139 (2) 142
(3) 141 (4) 241

(5) Question not attempted

The energy vyield by hydrolysis of the ester
linkage and an anhydride bond under standard
condition are respectively -

(1) 28 kJ/mol and 30 kJ/mol approximately

(2) 14 kJ/mol and 30 kJ/mol approximately

(3) 14 kJ/mol and 60 kJ/mol approximately

(4) 28 kJ/mol and 60 kJ/mol approximately

(5) Question not attempted

Von Gierke is a glycogen storage disease. Which

of the following enzyme is affected in this
disease?

(1) Glycogen synthase

(2) De-branching enzyme
(3) lysosomal glucosidase
(4) Glucose 6-phosphatase
(5) Question not attempted
Which  compound
alkaptonuria?

gets accumulated in

(1) Homogentisic acid (2) Tyrosine
(4) Galactose
(5) Question not attempted

(3) Phenylalanine

“Lead poisoning is” a result of -
(1) Competitive inhibition

(2) Non-competitive inhibition
(3) Uncompetitive inhibition
(4) Allosteric inhibition

(5) Question not attempted

The RNase P is an enzyme in which RNA rather
than protein is responsible for catalytic activity.
This statement is -

(1) Partly True if associated with r-RNA

(2) False

(3) Completely True if associated with ZDNA
(4) True

(5) Question not attempted

(=] =]
[=]

35.

36.

37.

38.

39.

40.

Ud® It H DNA Ud e R &
7 fha eggoM 99 994 87

(1) 139 (2) 142
(3) 141 (4) 241
(5) FrgaiRa we

A gRRUfT § Twer 49U Ud tAesess seH
B STRITESH | UK $oll ST HA: & —
(1) 28 kJ/mol Ud 30 kJ/mol SATHIT

(2) 14 kJ/mol Ud 30 kJ/mol &RTHIT

(3) 14 kJ/mol Td 60 kJ/mol ST

(4) 28 kJ/mol T4 60 kJ/mol ST

(5) srgaiRa Uw

ga T T Torsdhie Fa9g I 2 e H
q BT Uolgq 39 9T # gHifad giar 87

(1) e R

(2) Sgifer vogH

(3) ATSENEHA DI
(4) TP 6-BIREHCT

(5) <IN U
Teh e gRAT § 41 Afe Thig 81 S
&7

(1) gHoHReS e (2) eRRRIA

(3) wFeTar= @) e

(8) sraiRa g=

i fauTaar aRoma & —

(1) wfoemt Heaa &1

(2) IR—ufoeaell dea @1

(3) swferaelf wWews &1

(4) vareRe dgad &1

(S)SQﬁﬁHEFFf

JARYATS U1 U Gearrsd & forad 0idH & v

TR IRUAT ISRV A & fog Soveri 21

T8 BT —

(1) 27f¥rs 9w, Ife IR—3RUAY | Fdferd &)
ar

(2) 3T &

() gia: e, Ife ors —dey | Hafdd &1 a1

(4) I ©

(8) Srg=ife e

=9
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41. What determines sex in Drosophila? M. grifhen | foivm &1 MyRor fFEw gar 87
(1) The ratio of X chromosomes to autosomes 1) X W 3N e & 3T J
(2) Cytoplasmic factors in the egg (2) 372 ¥ AT E FRBI I
(3) The number of autosomes only (=] (3) Dael e @1 F&=T J
(4) The presence of Y chromosome %}&Rﬁ @) Y o @ SuRufy &
(5) Question not attempted (5) srgaiRa wee
42. Chi-square test is the test of significance or 42 HE—IFIIX Udervr, <we i Faffafsada
goodness of fit. This was first time given by Te9 % fhe 2| 39 = 4 9 o
which of the following statistician? HiRaraifae < 9aray or?
(1) Guilford (2) Karl Pearson M ffrawre (2) w1ef A=
(3) Elhance (4) Fisher (3) g (4) R
(5) Question not attempted (5) srgaRa we
43. Which of the following is correct for albumin  43- 751 # 9 o H TURYT YegfAe wirodT UICH
plasma protein present in blood? ' & gR H T HE 87
(i) Molecular weight is 3,50,000 (i) 3mofde ¥R 3,50,000 AT &
(i1) Fully synthesized in liver (i) gofaar aFHa H Heallld 8 g
(iii) Responsible for transport of bilirubin, (iii) faforsfaw, MM @ 79 @& d'a & o
hormones and drugs TR €
(iv) They are classified into several sub groups. (iv) s W‘iﬁ H fowfora €
Correct answer 1s - el SR © —
(M) (@iv) (2) (ii) and (iii) (1) (iv) @) (i) iR i)
(3) (1), (i) (4) (1), (ii1), (iv) (3) (1), (iii) (4) (1), (iii), (iv)
(5) Question not attempted (8) 3rgaRa e
44. The nutrient composition of the water affects the 44 ST &1 UNG HocA URIdd & 3ifH
final carbon-nitrogen-phosphorus (C:N:P) ratio, BIEA—ATS S ST —BIhIRA (C:N:P) 37T, LS|
also termed as “Redfield ratio” of the “YSWIeS AU |l Hed 8, DI AT Bl
phytoplankton. The commonly used value for 2| 39 U @ oy A= o ¥ foram o
this ratio 1s - qreT 99 & —
(1) 10:16:5 (2) 106:16:1 (1) 10:16:5 (2) 106:16:1
(3) 1:1:1 (4) 16:5:1 (3) 1:1:1 (@) 16:5:1
(5) Question not attempted (5) argaRa e
45. Which of the following DNA polymerase, found 45 fo=feiRaa # & @941 SigAy dieiive &, S
in E.Coli is specialized for removal of the RNA SITAY HEAYOT BT YRS R H BM 37 dred
primers that are used to initiate DNA synthesis? IRGIY WER PN seM @ fog pleng A
(1) DNA Polymerase III Rredpa &7
y ¢
(2) DNA Polymerase I () =g 7 I
' (2) Sy dielER 1
(3) DNA Polymerase IV (3) SreeT TS IV
(4) DNA Polymerase II (@) Qo dreiST 1T
(5) Question not attempted (5) srgaRa W
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46. When RBC is broken, haemoglobin breaks down  46-
into haem and globin. Haem is broken down into
Fe. biliverdin and CO. This biliverdin 1is
converted into which of the following?
(1) Stercobilinogen  (2) Ferritin
(3) Bilirubin (4) Urobilinogen
(5) Question not attempted

47. An alternation in the confirmation of proteins 47
which result in change in function of enzymes is
called -

(1) Non catalytic strategies

2 R N I
:3; Amphibolic changes g 2
Enzyme transform energ Rex

; g R

(4) Allosteric changes
. (5) Question not attempted
48. The Na*-Ca’* exchanger is an example of - 48.
(1) Facilitated diffusion(2) Uniport
(3) Antiport (4) Symport
(5) Question not attempted
49. The “ER signal sequence” is guided to the ER 49
membrane by a Signal Recognition Particle
(SRP). Which of the following statement is
not correct about SRP?
(1) It contains six protein subunits.
(2) Binding of SRP to signal sequence causes a
pause in translation.
(3) It binds only with “ER signal sequence” and
not with ribosome.
(4) Itis a ribonucleoprotein.

(5) Question not attempted

50. What type of bilirubin predominates in 50
haemolytic jaundice?
(1) Not related to bilirubin
(2) Only Unconjugated bilirubin
(3) Both Conjugated and Unconjugated bilirubin
(4) Only Conjugated bilirubin
(3) Question not attempted

ST el Ydd BiUpR cedl €, d EErand
g R Tlifds # <edr 81 &9 Fe, fferaf$n
TAT CO H < Sirem & | gg faferafsss =1 9 4
foed gaa ST 27

(1) Eaifaferre (2) wafes

(3) faferefm (@) RifafeEeE

(5) sgaRd v

U UiEH & QIR H dead Sl bl 39D
TRl & Sl H W 9 FRar 8, HEerd
&

(1) AR urfa

(2) yiEifars TgaT
(3) TTTSH TRABIH Sl
(4) TareR® dgad
. (5) IgRa gz
Na*-Ca?* faffmgsal fhaer saexor 87
(1) 7= fa|=on (2) gfare
(3) e (@) Ryard

(5) srgaRa weA

"ER Rrea g’ &1 Rea ReafeE

qifié@al (SRP) RT ER fBreetl a& ugamrn Sird

2l /9 § ¥ @i dUd SRP & forg |d

el 87

(1) 399 © U SU—sHIsal il & |

(2) SRP &7 RF=7et 3ghA | o1 3rgare A
v ST w=ar 2|

(3) ¥E % “ER R71al A" & A Sl
2 AT EAHH & A1 T |

(4) 7% & TZAYfFAATIEH § |

(8) 3IRT weA

gEfefes it H f&e usr &1 fAferefes

U BIal 27

1) fafesias @ g=fua =6 2

(2) oo sIgfaa fafersfam

(3) =H wygiaa g sEgfivg fafersfas

(4) Baet wafaa RfereRE

(5) IrgaRa ueA
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51. The systematic name of enzyme lactate 51. y=I18H olace @g@ﬁﬂ—‘}‘a & Ugfdag 99 &1
dehydrogenase will be written as - forar smga —
(1) L-Lactate : dehydrogenase (1) L-dieee : SeEsifory
(2) L-NAD : oxidoreductase HEE (2) L-vATS : iSRS
(3) L-Lactate : oxidoreductase o e (3) L-viaee : IAfRIeRsdey
(4) L-Lactate : NAD oxidoreductase OS5 (4) L-oiace : UATS! TSRS des
(5) Question not attempted (8) srgxIRa uzA
52. Which of these is unsaturated fatty acid? 52. 7 H PIAT IFEGT JUI A &7
(1) Oleic acid (2) Arachidic acid (1) anfers e (2) WfHfew
(3) Palmitic acid (4) Myristic acid (3) uififew ard (4) ArrdRe® v
(5) Question not attempted (5) srgaRa e
53. The Hill Coefficient (nH) is used to determine : 53. faet quis (nH) &1 START &7 FeiRa & &
(1) The enzyme’s Ky forg o <irar 87
(2) The type of enzyme inhibition (1) TSgd &1 Kum
(3) The rate of an enzyme -catalyzed reaction (2) USTsH ARIE BT 9B
(4) The degree of cooperativity of an allosteric (3) UuTzH—aIRT Irfafshar 1 <=
enzyme (4) TAReRE U9TsH H HeEhIiRdr &1 W (&)
(5) Question not attempted (5) argaRa ued
54. Which amino acid residue in Chymotrypsin’s 54 HEAICTET & by Ia # SIFAT HIFT 30
active site is involved in both acylation and 3rafine, gATgdeH Ud ey <1 uftharai
deacylation? # e BT &7
(1) Tryptophan (2) Tyrosine (1) fgemh= (2) erR™EE
(3) Phenylalanine (4) Serine (3) wiaga=H @ 9=
(5) Question not attempted () erpaRa ueA
55. Match the correct pair of electrolyte with its 55 Rl # AU 7y 9 HET & AT g Idlse
functions given in table - B FEl TSl BT AT B —
Electrolyte EREHGIES
(1) Sodium (i) <feTH
(11) Potas§ium (ii) Treferm
{1 ChEhie (iii) FARTSS
(iv) Magnesium (iv) APy
Functions in the body R § B
(a) Maintains healthy blood level, blood
pressure and controls body fluid levels. a) ¥ad Eﬂ Wel W Wﬁ UL R S o
(b) Helps control fluid levels and nerve muscle TR H TR L &1 e |
Funciions: (b) TRl ueTl U df3eT Ueh Sl &1 e |
(c¢) Supports nerve muscle functions, promotes (c) <iZrer—ueht w1l 1 wednT, sfgdl qen sl
growth of bones and teeth. B T H Qﬁa’ I
(d) Supports heart, nerve muscle functions and (d) €39, SUUEd 9 AEE-U & HET B
metabolism HEAMT
Choose the correct match - EeEd| qHT BT FIT HRY —
(1) ()-(b), (ii)-(d), (iii)-(c) , (iv)-(a) (1) (1)-(b), (i1)-(d), (iii)-(c), (iv)-(a)
(2) ()-(b), (ii)-(c), (ii)-(d), (iv)-(a) (2) (i)-(b), (ii)-(c), (iii)-(d), (iv)-(a)
() (i)-(b), (i)-(d), GiD)-(a), (iv)-(c) () (i)-(b), (i)-(d), (iii)-(a), (iv)-(c)
@) (i)-(b), (ii)-(a), (Gii)-(d), (iv)-(c) (@) ()-(b), (ii)-(a), (iiD)~(d), (iv)-(c)
(5) Question not attempted (5) argaRa U
65 - K Page 29 of 48



56.

57.

58.

59.

60.

Haemophilia A is caused by a deficiency in
which of the following clotting factor?

(1) Factor VIII (2) Factor VI

(3) Factor XII (4) Factor I

(5) Question not attempted

Haematoxylin includes  the

following -

(i) Haematoxylin 4.0 gm

(i) Absolute alcohol 25.0 ml

(ii1) Saturated
400.0 ml

(iv) Glycine 100.0 ml

(v) Absolute methyl alcohol, 100.0 ml

Which haematoxylin is prepared by this way?

(1) Ehrlich Haematoxylin

(2) Harris Haematoxylin

preparation

ammonium alum aqueous

(3) Gomorichrome Haematoxylin '

(4) Delafield Haematoxylin

(5) Question not attempted

In atherosclerosis, monocytes cross endothelium
and differentiate to become macrophage. These
macrophage become “Foam” cell by ingesting
and digesting which of the following?

(1) Membrane glycoproteins

(2) Accumulated lipoproteins

(3) Collagen fibers

(4) Calcium deposits

(5) Question not attempted

Which of the following antibiotic closely
resembles like aminoacyl tRNA?

(2) Penicillin

(4) Ampicillin

(1) Puromycin
(3) Cephalexin
(5) Question not attempted

Which centrifuge type would be most suitable
for separating mitochondria from cell lysate?

(1) Hand-crank centrifuge
(2) Clinical centrifuge

(3) Differential centrifuge
(4) Microfuge

(5) Question not attempted

[E)E[E]
i i
W -E

56.

57.

58.

59.

60.

e A F=faRea & @ f5g g FRS
HT PH B BRI BIAT 27

(1) &=Ed Vi (2) pRS VI
(3) IRF Xl (4) PRE |
(5) erpaRa s

grciiadferd & g9 & fory —

(i) EHeifeate™ 4.0 gm

(i) UsdIey< Uohleel 25.0 ml

(iii) Fgw A= TerH g # 400.0 ml
(iv) TATSHIE 100.0 ml

(v) TsAIRIe fHernse Uemigel 100.0 ml
T UOR BT eMeiddfers a-mT Sdr 87
(1) sefeha Eeifaafea

(2) eR¥ EHciferafer

() THRIHM T

(4) SATHics BRI o

(5) 3rg=INT we
CRIEFRINT H, AFNECH TR Bl TR 6
td ffed 8 #wemEe] 99 9§13
FEMeTeTY] 7 H 9 el =mien ud arad
(1) foreeht TP

(2) 51 g s

(3) Bietole d=g

(4) SferrH ST

(5) srgaRa g

1 # o et sriFTHe (RNA
q T H WG &7
(1) <REERE

(3) T

(5) Ir<IRd U=
ol ASHC H ASCIBI-gdl &I 3T & &
fog fba g &1 ALTgS Ta Sugad BITT?
(1) T—DF HLIwR

() foafea Al

() fEwifRrae AR

(4) HATgHITgS

(8) IgaRd gz

(2) gfRAfer
(4) weqififers
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61. Which of these sampling method is used when 61
the population is large, scattered and not
homogenous?

(1) Lottery method
(2) Systematic sampling method

(3) Random number table method Eﬁg
(4) Cluster sampling method %

(5) Question not attempted
62. platelet adhesion — Platelet activation — 62
Platelet release — Platelet aggregation — ?
Sequence of these events will result in which of
the following?
(1) Formation of platelet plug
(2) Secretion of platelet activating factor
(3) Secretion of prostacyclin
(4) Thromboxane formation

(5) Question not attempted

63. Which cytokine is known as the T-cell growth ~ 63.

factor?
(1) IL-1 (2) IFN-y
(3) IL-2 (4) TNF-o

(5) Question not attempted

64. Which of the following are present at catalytic ~ 64-
sites for enzyme chymotrypsin?
(1) Asp 102, His 94, Ser 195
(2) His 57, His 94, His 96
(3) His 96, His 94, His 119
(4) His 57, Ser 195, Asp 102
(5) Question not attempted
65. An analytical ultracentrifuge can be used to - 65.
(1)  tocalculate the size and approximate shape
of the molecules.
(ii) To detect conformational transitions.
(iii) To determine the number of subunits

making up a molecular complex.

Code -
(1) (ii) and (iii) (2) Only (i)
(3) (1) and (ii) (4) (1), (ii) and (iii)

(5) Question not attempted

=1 & DIl AT U B @l fafdy 2, o1

SEEE e, e g8 SR Jorda = &1?

(1) <fedr fafy

(2) egaRRerd FHATHRoT Ay

(3) ggfos ww&r AR fafy

(4) Fereer Hufer faf

(5) IR uw

oicele NS — Telcale Afbaadser —

©ITee B — e THATHI —?

< W uedri &1 Iged e § 9 fead

qRRHIfora grar 87

(1) @ieele @il &1 g1

(2) wicele AFIRVT RS B G

() YReEfdeT BT g

(4) A eI &1 g1

(8) IR U

HITAT HISCIHIZT SI—BIRAl JIEHRE & HY

H SET Srar 87

() IL-1 (2) IEN -y

(3) IL-2 (4) TNF-o

(8) srRa gw

UIgA FAfeltaT & fag =1 4 4 &9

IoRG e W) Rerd €7

(1) Asp 102, His 94, Ser 195

(2) His 57, His 94, His 96

(3) His 96, His 94, His 119

(4) His 57, Ser 195, Asp 102

(5) argaRd ge

U vl gd b &I TN B Hebd

=

(i) STURIT & TR STMPHIA Ud IMHR Bl T
H|

(i) F®ID FHIIREGT @ ggarH H |

(iii) enfda® Haga At SuseEal 3 dw@n
@ foeiRor #|

az\? —

(1) (i) T4 (iii) (2) &g (i)

(3) (i) ©d (ii) (4) (i), (ii) T9 (iii)
(5) <R weA
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66.

67.

68.

69.

In a spectrophotometer, what will be the

percentage of light absorbed when the

absorbance is 1.0?
(1) 10% (2) 99%
3 1% 4 90%
(3) Question not attempted

In Hexose Monophosphate-Pathway,
6-Phosphogluconolactone is hydrolyzed by

6-Phosphogluconolactone  hydrolase.  This
reaction 1is -

(1) reversible and not rate-limiting

(2) irreversible and rate-limiting

(3) irreversible and not rate-limiting

(4) reversible and rate-limiting

(5) Question not attempted

Porins are present in which part of
mitochondria?

(1) Intermembrane space

(2) Inner membrane

(3) Both inner and outer membrane
(4) Outer membrane

(5) Question not attempted

If an inhibitor reduces both Vmax and Ky, this
type of inhibition is called -

(1) Uncompetitive inhibition

(2) Partially-competitive inhibition

(3) Competitive inhibition

(4) Non-competitive inhibition

(5) Question not attempted

66.

67.

68.

69.

U RagihieMey # 7R @eNger 1.0 8,
UHTT & NN BT WIS FT BHIT?
(1) 10% (2) 99%

) 1%

(8) IgeIRa we=
BaANS ARBRBT—TT § 6B PTG
EESIEC -
SAUEe 1 Gl § | I8 AfAfkar 7 —

(1) I&HAIY 9 IR X—HHId®

(2) IR U9 ex—dHias

(3) srgepaviE Ud Y av—diHias

(4) SopHYg Ud R—AHias

(8) rgaRa we

oIkl @1 SuRerfa Agcaiftgar & f&Fa wmr 4
Bl 87

(1) sra=1 fereetl worme

(2) saRe ferectt

() Tl aNidRe SR amesr fEreet

(4) 918y fereett

(8) srgIRa weH

e TP HGAD Vmax 79 KM BT BT BT BH Bl

(4) 90%

BT 6—BRBIDIAIAFI

2, Ol 39 USR BT HeHT FEadm & —
(1) s=aififefeg Hem

(2) 2rifere sifafefea dema

(3) wpifufefea Wemw

(4) dF—aifafefea Heaa

(8) srgalRa e
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70. In which type of DNA sequence, misalignment 70- f&9 UdR & <SIUAT JgHA H I
(Aasrars=He) SaRad+l & 89 @1 waids
HHTEAT Bk 87
(1) srfg<i, R SERE arel 3 gHA
(2) GC w=dT A UPR IFIHH
() AT w=dT & U™R S1shA

(4) srcfere SNERTd Tl I

mutations are most likely to occur?
(1) unique, non-repetitive sequences
(2) sequences rich in GC content

(3) sequences rich in AT content
E3E

[
(=]

(4) highly repetitive sequences

(5) Question not attempted

(8) <R weA

71. Which of the following molecule can induce 71 /=1 § | ST 3] ART H AY[FATCISS
oligomerisation of  yeast ribonucleotide Rewrs § NferiiRzey™ IR @var 27
reductase? (1) ATP @ GTP
b il (3) CTP (4) dATP
(3) CTP (4) dATP
(5) Question not attempted () srgaiRa we .

72. Which of the following enzyme catalyses — The  72- f5741 § 9§ &9 U984 ORI — ASCIBi~gdl &
first step of P-oxidation of fatty acid in the MY § G971 3FA © T3 aRITHRIT BT T8l
mitochondrial matrix? TR IR fhar S 87
(1) Carnitine Palmitoyl-transferase-I (1) wifsfes aiferra siaeys—I
(2) Thiolase (2) emarerst
(3) Acyl-CoA Dehydrogenase (3) THIST—CoA feEEsITo
(4) Acyl-CoA synthetase (4) TaISA—CoA Rercw
(5) Question not attempted (8) agxiRd weA

73. “Cold antibodies” are produced in which of these ~ 73- “&les ufaell” =1 ¥ ¥ o w—ufoxrfea <
autoimmune diseases? H I~ Bl 87
(1) Pernicious anaemia (1) o= g
(2) Drug induced haemolytic anaemia (2) g7 IR SeEfes whfar
(3) Hashimoto Thyroditis (3) zrefmer arrifsfey
(4) Autoimmune haemolytic anaemia (4) wr—uferferg eHresfes whffaT
(5) Question not attempted (5) argaRd wed

74. 74.

In agarose gel electrophoresis, the gel matrix is
held together by -

TIRIG el elael bR 4, Od #fga feaas

ERT U 912f ¥8dl 87

(1) Covalentbonds  (2) Metallic bonds (1) wEaded 9y () enfeaes de
(3) Hydrogen bonds  (4) Ionic bonds (3) BIgSIoA g @) Imafe dy
(5) Question not attempted (5) arqeRa ue
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75.

76.

77.

78.

79.

80.

Mycobacterium leprae is an intracellular
pathogen. It infects -

(1) Th-cells

(2) Basophils @gf.ﬁ]
(3) Eosinophils E%ﬁﬁ

(4) Macrophages

(5) Question not attempted

The exponential phase of microbial growth curve
1s also known as -
(1) Lag phase (2) Death phase
(3) Log phase (4) Stationary phase
(5) Question not attempted

Which of the following molecule affects the
mobility of fatty acyl chains in the plasma

membrane?
(1) Starch
(3) Glycogen

(2) Carbohydrate

(4) Cholesterol

(5) Question not attempted

Term “fingerprint” in infrared spectroscopy is
used for -

(1) Optical property of functional group

(2) Fundamental frequencies of functional
groups

(3) Light frequency absorbed by functional
groups

(4) Chemical property of functional groups
(5) Question not attempted
In which of the following diseases, antibodies
are produced against acetylcholine receptor?
(1) Rheumatoid arthritis
(2) Myasthenia gravis
(3) Guillain Barré Syndrome
(4) Systemic lupus erythematosus
(5) Question not attempted
To prevent osmolarity decrease below normal,
the Kidneys have mechanism for reabsorbing
sodium (Na*) in the distal nephron. Which of
these hormone controls this mechanism?
(1) Antidiuretic (2) Renin
hormone
(3) Aldosterone (4) Angiotensin-I
(5) Question not attempted

75

76.

77.

78.

79.

80.

AEHNTCINGT oY Udh ATHIPG 9T T
2| I8 Hepfid &xar g —

(1) Th—>Ifremm=il &1

(2) S &1

(3) g AIheT @l

(4) geg—YeTsd BIRHIRIT (HbIhord) oI

(8) srgaRa e

Sfiar] & gfg =9 @ 9o gl =R &l B9
wg H | S T 87

(1) o =R (2) gg ==
(3) SRT =TT (4) Rer =RT
(5) FI<IRdT gz

Frefafaa & @ siar s e el 4
JAgad  THAA  HEARl Bl Ifaeiieldr @l
gATfae HRal 87

) wrd (2 FEEEse
(3) TATSHIT (4) BleiRglal
(8) JRT we

FaRg Wagrpdl d fhRfie” e Uy
foar i § —

(1) fsparcAe |HE &1 YT T[or

(2) foharcTs FYE B o gl

(3) TepaTcAes |HE GIRT (TN Wbl BT IATgRT
(4) fharsd |YE &1 IERIfHe T

(5) IRa e

=1 J e ARl 4 gRiergaareia Raer &
fovg uforeN 3= g &7

(1) EpEEs smuisRa

(2) =r=Fefifrr afdw

@) T=e R RigH

(@) e guE gRIHSHd

(8) 3rgaRa U=

A 8 A SRS @ B9 F A &
ford ga & fewed hF H Na* & ga:sm@eiyor
& o 9= ear 8 | = | Sl=ar 8HE 39 |
B A3 o 87

(1) GSreRRR® g (2 3P

(3) veseRA (4) gRTae~aa—

(5) srg<iRa ue
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81.

82.

83.

84.

85.

Which enzyme is inhibited by methotrexate in

humans, leading to its therapeutic effects?

(1) Dihydrofolate reductase

(2) Adenosine deaminase

(3) Tyrosine kinase

(4) Cyclooxygenase

(5) Question not attempted

Which fixative is particularly suitable for tissues

with abundant red blood cells?

(1) Bouin’s fluid (2) Zenker’s fluid

(3) Helly’s fixative (4) Formal saline

(5) Question not attempted

Which of the following amino acid is an

extension of alanine where on indole group is

attached to the B carbon of alanine?

(1) Tryptophane (2) Loucine

(3) Methionine (4) Valine

(5) Question not attempted

Type I hypersensitivity is mediated by which

immunoglobulin?

1) IgG (2) 1IgE

(3) 1gM 4) IgA

(5) Question not attempted

(i) Phenylketonuria (PKU) is an inherited
genetic disease.

(ii) Causes increase in phenylalanine amino
acid in body.

(iii) Can affect any one who has mutation in
both copies of PAH gene.

(iv) Skin, hair discolouration, developmental
delays are some of the symptoms of
PKU.

Which of the following are characteristics of

Phenylketonuria (PKU)?

() ). (i) @ (i), Gii) EZE

(3) (i), (iv) @) (1), (iv)
(5) Question not attempted

I

[=]

81.

82.

83.

84.

85.

A=l | Hlgade gR1 e USisH &1 arfed
frar smar 8, R sv9a Rl uy 8
a7

(1) SEEEsweae ReaeT

(2) TSAIRE g

(3) TR FE

(4) TSR

(5) 3r<iRa wee

ST fhaifed ofel Xaa BIRTBRI | 99
Hadl & foru a9y wu 3 Iuyge 27

(1) 9139 wegs (2) SR Uoze
(3) Bt fheafeq (4) B AT
(8) srg<iRa usH

= ¥ B |l e T B YR B
rad garie @ B e W SSid FHE S
g &7

(1) ey (2) =g
(3) #Hrefrif== (4) Jei=
(5) 3=IRT we A

TRY I AfddeTeiarar fbd sRAragferd grl
AeRerd gl 27

(1) IeG (2) IgE
(3) IgM (4) IgA
(5) I<Ra weA

(i) BEdBRRIRAT & @me ke T
21

(i) ¥ IWR # BEATAFE JHET A Bl
goTaT 2 |

(i) ¥ T¥® BT wAIAT B Fhar g oraH
IORafdd PAH SIH &1 Ta &Y & |

(iv) @@, 9ral &1 T gedl, fde # <, |o
PKU & TeToT & |

1§ P BEESeRIRAT  (PKU) B

faeang &2

(1) (), (i)

(3) (iD). (iv)

(8) rgaRd wed

(2) (ii), (iii)
@) (), (iv)
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86.

87.

88.

89.

90.

Which of the following fluorescent dye emits a
deep red florescence when excited with green-
yellow light?
(1) Alexa 568
(3) DAPI

(3) Question not attempted

(2) Rhodamine
(4) Fluorescein

GTP-binding protein (G-protein) are -

(1) homotrimeric proteins

(2) homodimeric proteins E:
(3) heterotrimeric proteins &%

(4) heterodimeric proteins
(5) Question not attempted

Phosphate-group of a nucleotide is linked to the

C-S’ group of pentose sugar by an ester bond. A

second phosphate group may be linked to first

phosphate group by which bond?

(1) Tonic bond (2) Hydrogen bond

(3) Anhydride bond  (4) Phosphodiester

linkage

(5) Question not attempted

Which pairs of a cerebroside are correct on the

basis of the fatty acid linked to C-2 of

Sphingosine?

(1)  Nervon - Lignoceric acid

(11) Phrenosin - Cerebronic acid

(ii1) Kerasin - Lignoceric acid

(iv) Oxynervon - Nervonic acid

Code -

(1) (1) and (iv) (2) (i) and (ii)

(3) (iii) and (iv) (4) (ii) and (iii)

(5) Question not attempted

Identify the correct pair from the following

options regarding reversible enzyme inhibition -

(1) Mixed inhibition -Both Km and Vwmax are
affected

(2) Competitive inhibition - Decreased Ky

(3) Noncompetitive inhibition - Changed kpm,
Unchanged Vmax

(4) Uncompetitive inhibition - increased Vwmax

(5) Question not attempted

86.

87.

89.

90.

frfafag # 9 o= ufddfasiia e

ERI-—GT gHr 9 ST 8 UR TEN oTd

ufardifer sl owar 87

(1) 3reia™T 568 (2) IreMH

(3) Srudiang (4) TR

(5) I gaRd g

SE—ge4 UeM (Sh—-9eH) § —

(1) Fafa ue=

(2) gafgdra dicE

() fawteia o=

(4) Ruafgd BE=

(5) saRa g

U Gfderdicgs & Biehe gu UTrel THT &

C-S’ gU ¥ YRR 99 9§ JSdT & | TIT Hidhe

YU Ul BIbe YU 9 b9 99 I s dhdl

£ '

(1) Imas a9y

() TEIESIES Y

(5) aRa g

REMRE & C-2 g 94g 3fd & IR W

AEAISS S DAY I Hal 87

(i) ¥4 — for=aRe s

(i) ThFRTE — IRAP 3

(iii) B — f=RaR® v

(iv) IffRiam — Fdife 3T

‘qz_\a_

(1) (1) 3R (v)

(3) (iii) 3R (iv)

(5) argaRd uw

gfdadt v=aga M @ dey § fe=feaRag

famedl # | |8 T F ugaE B —

(1) FARE PR — Kv IR Ve SFT 990G
B € |

(2) ufogeft AR — Ky & &)

() R—ufoeft AR — Ku & 9RaT, Viax
srafRafa

(4) SRl PR — Ve ¥ 9fE

(5) Ig<IRa A

(2) grsgIe= 9Y
(4) BIEFTSTEURTY ge+

(2) (i) 3T (i)
(4) (ii) 3R (iii)
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PART-C FORENSIC SCIENCE

N. g fafy vorsafecs Iiwav Hvwer &I
Jea & fav =9 effer & sy A

TEfEATRIY[FIcss SRBRBE BT UGN

91. This method makes use of dideoxynucleotide
triphosphate as chain terminator for stopping the
enzymatic DNA synthesis -

92.

93.

: T & —
(1) Nanopore DNA sequencing
(1) F99R SgAY BT
(2) Pyrosequencing EZE @) ;
(3) Sanger method gﬁ (3) ¥R Bfy
(4) Maxam-Gilbert method (@) Yrga—fireee Ay
(5) Question not attempted (5) SrgaRd wed

Which of the following states have the highest

- F=fafRag 4 @ e g § 9=l &) S 999

number of tigers? fdres 87

(1) Karnataka (2) Rajasthan (1) FHTes (2) o=
(3) Madhya Pradesh  (4) Uttarakhand (3) 7=y U (4) TTRIES
(5) Question not attempted (5) IgaRd U=

‘Which of the following animal products have

93.

frafafaa & 3 5 9y S § 2R @iy

Schreger lines? g7
(1) Antlers (2) Horn (1) i (TeeR) (2) 8
(3) Ivory (4) Bone (3) =refera (4) ST
(5) Question not attempted (5) R e
94. What do the numbers in POP-4, POP-6, and 94 SHfe®s TUATaseR H POP-4, POP-6 3R

95.

POP-7 represent in a Genetic Analyzer?
(1) Concentration of pyrrolidinone

(2) Concentration of silica

POP-7 &1 G&IIU FIT STl &7
(1) urgRIforfe== &) |Aigar
(2) Taforpr @1 |igar

(3) Concentration of dimethyl polyacrylamide (3) srsfhersa dieliiyfhamgs @l Higdr
(4) Concentration of urea (4) gRAT BT Hige
(5) Question not attempted (5) S<iRd we

Which clause of BNSS, 2023 mandates the
collection of forensic evidence at the crime scene
by a forensic expert?

95.

FTATETH 2023 BT BIAAT @ BRAAS fILwst
ZTRT 3TIRTY Wi IR BRRYE Fed UHH BT Bl
Jfferard =TT 87

(1) 176(3) (2) 158 (1) 176(3) (2) 158
(3) 137 (4) 166(2) (3) 137 (@) 166(2)
(5) Question not attempted (5) SrgRd U
96. Matrix  metalloproteinase 14  (MMP14) 96. §fgqd FedAWc=g 14 (MMP14) SREAHIGR

immunomarker is specific to -

faftre g ¥ fHad grar war 27

(1) Foetal blood (2) Menstrual blood (1) 3o1 X (2) gfge g9 &1 Jad
(3) Peripheral blood  (4) Parturient blood (3) gRefiy v (4) ygg vad
(5) Question not attempted (5) srgaRa ue
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97. What is the term used for a condition in which
males have abnormally low sperm count?
(1) Oligospermia (2) Azoospermia
(3) Aspermia (4) Hyperspermia
(5) Question not attempted

98. Which of the following regions in the
mitochondrial DNA is referred as the Universal
DNA Barcode for animals?

(1) 12S rRNA

(2) NADH dehydrogenase 5 EZE
(3) Cytochrome b &%
(4) Cytochrome oxidase 1 =

(5) Question not attempted

99. ‘Magnan’s bugs’, the most characteristic tactile
hallucination of a foreign body under the skin are
associated with -

(1) Cocaine addiction (2) Opium addiction
(3) Alcohol addiction (4) Nicotine addiction
(3) Question not attempted

100. During which phase of PCR amplification, can
the produced amplicons be used to determine the
concentration of template DNA?

(1) Linear phase (2) Lag phase
(3) Plateau phase (4) Exponential phase
(5) Question not attempted

101. Admissibility of report of certain Government
Scientific Expert is mentioned under which
section of Bharatiya Nagarik Suraksha Sanhita
2023 (BNSS)?

(1) Section 310 (2) Section 329
(3) Section 293 (4) Section 164
(5) Question not attempted

102. Which search method is best suited for searching
a crime scene with well-established boundaries?
(1) Spiral method (2) Wheel method
(3) Zone method (4) Strip method
(5) Question not attempted

97.

98.

99.

100.

101.

102.

N Rafa & forg an vree st fpar wmar
w9 A HH BT 87

(1) siferirafiaT (2) TR

(3) TgfHar (4) Ui

(5) srgalRa g
Hseipi~gdd Suay # f=fafed § 9 few
&3 P IR & fory IFade SvAT aRarS
PHET ST 27

(1) 12S rRNA

(2) NADH feggsiorT 5

(3) wrsempH @

(4) TTsCpM RIS 1

(5) srgaRa W

&

(1) FIHa B ad (2) 3mH & od

(3) IR BT TG (4) fFrecH &1 &g
(8) srg<iRe uwA

Rk yaee & 5w @xo1r & <R Sarfed
TEAThI=T & STANT THIE SITAT BT gigdl
AuiRa &= & forv fear o wear 87

(1) R =y (2) o7 TRUT
(3) UBR T (4) =i =T
(5) srgfa uz

o WHRI dJefe fARwst @ RaE A
BT BT Joeitd R ARG GReT dfed
2023 (dioevays) @7 g arT @ sierfa e
T B?

(1) g=1310 (2) gRT329
(3) g7 293 (4) a7 164
(5) SrgxilRe =

IS aNE W Ifd ATHE & | R W
B G B A S de Y 999 Suged
-4

(1) wfte fafey (2) gfzar fafe
(3) = fafr (4) et fafdy
() IgRd us
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103.

104.

105.

106.

107.

108.

Which clause of BNSS, 2023 empowers the
magistrates to order collection of an expanded
list of forensic samples from persons?

(1) 255 (2) 349

(3) 307 (4) 273

(5) Question not attempted

Which of the following is the first thing a crime
scene investigator should do when arriving at a
crime scene?

(1) Collect evidence

(2) Secure the scene

(3) Take photographs

(4) Interview witnesses

(5) Question not attempted

In which type of crime, paint examination is
carried out?

(1) In road accident
(3) In forge

(2) In a murder case

(4) None of the above
documentation

(5) Question not attempted

What role does Semenogelin (Sg) play in semen

after ejaculation?

(1) It forms a coagulum that liquefies after a few

minutes.

(2) It binds sperm to the walls of the vagina.

103.

104.

105.

106.

3 intains the pH of ; P
(3) It maintains the pH of semen EE
(4) It provides nutrients for spermatozoa. %%

(3) Question not attempted

Which section of the BSA, 2023 deals with the
admissibility of electronic record?

(1) Section 61 (2) Section 63

(3) Section 66 (4) Section 69

(5) Question not attempted

Which of the following phenomena arises from

the failure of one of the primer sets to anneal due
to the mutation at the primer binding site?

(2) Spikes
(4) Null alleles

(1) Pull-up peaks
(3) Heterozygote
imbalance
(5) Question not attempted

107.

108.

dITACETE 2023 HT DT W HRRgEl @
Ffaqal ¥ BRES T @ e aRa g
& HAE BT MR o P ATHR a1 27

(1) 255 (2) 349
(3) 307 (4) 273
(8) srg=iRa U

AU A WX UETH WY AW WA YD
B FaH Ugl T HRAT Aley?

(1) deg s &

(2) gcARTd BT GRIET FY

(3) TN o

(4) TTarEl 3 Yude d

(8) argaRa ue=

= 5 9 59 ueR @ R H U uNeq
fpar <maT 87

(1) @& gem §  (2) g7 IR |

(3) wirell =T @) g4 9§ fea o =6
JAURTE H

() sraRa g

e & 916 A H 9AARierd (Sg) df T

YA B 87

(1) I8 T DIPH 9971 & Sl g A=l &
qTg aXel 8 o & |

(2) 78 g1 B AN B AR A T 2

(3) @8 4~ & U= (pH) T 1Y ¥Fal ¥ |

(4) Ig HIvRN © Iy dive qvd 9 &Rl
gl

(5) aRa uw

RO Aed S ad, 2023 &1 Al GRI

soldgi-e Rels & Wiardr 9 Fefdd 87

(1) uRT 61 (2) o7 63

(3) gRT 66 (4) grT 69

(5) argalRa ueA

UTESFR IS Ase W SARTAT B HIRIT UIFHT

e # ¥ 5l & & Ui & d fAwerar 9

fr=forfad # 9 S gea1 SU= Kkl 87

(1) goi—a9 g9 (2) wEa

(3) FeoIIEIE @) T el
SRGEk]

(5) Srg=iRa ue
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109. What is the full form of ITS? 109. ITS &1 GRT - &7 &7
(1) Internal Transcribed Spacer (1) ST TTEhges WRR
(2) Internal Transfer Spacer (2) ge¥ToT TTEHY W
(3) Internal Transcript Spacer (3) SexTa g WoR
(4) Internet Transfer System (4) gexe oiamy faveH
(5) Question not attempted (5) I gaRa ueA
110. [nternational  Society of Forensic Genetics 110. 323_9Mal AHATSS 3% BRRAG SiHCHT Fardl
recommended - g —
(1) Repeat units of STR loci (1) STR drw1g @1 Rie gfe
(2) Size of STR loci EXE (2) STR &ATpTS &1 19
(3) Nomenclature of STR repeat %’;ﬁ (3) STR RYIe &1 AH®HRT
(4) Process of the STR loci (4) STR &S @) Ulshar
(5) Question not attempted (5) srgaRa e
111. Which among the following STR markers used 111 BRY& waw diesfan § ugw F=foRed
in Forensic DNA Profiling is the most TR ATHRT § | 4T Fad ggoul 87
polymorphic? (1) FGA (2) CSFIPO
(1) FGA (2) CSF1PO 3) THOL i TPOR
(3) THO1 (4) TPOX
(5) Question not attempted () srgaRa wed
112. Over half of all known species of aquatic insects 112 STl HIel & FHT S Tfodl § 9 M 4
belong to which of the following orders? sifers AfeRaa # & v o1 9 Hdfg &7
(1) Trichoptera (2) Diptera (1) feaprer (2) fe==r
(3) Plecoptera (4) Ephemeroptera (3) WHIT (4) THIRTRT
(5) Question not attempted (5) srgaRa weA
113. Silverfish undergoes which of the following 113.fRyexfhyr f=foilRag & ¥ fow voR &
types of metamorphosis? HIYIARYT ¥ [oRal &7
(1) Ametabolous (2) Paurometabolous (1) sfcEEd (2) IRFeEAd
(3) Hemimetabolous (4) Holometabolous (3) THHeEe™ (4) EraHer giad
(8) Question not attempted (5) SrIRa ueA
114. What major disadvantage did the HLA-DQA1 114.wRf¥& $vav Jgewor §# HLA-DQA1 SNP
SNP assay have in forensic DNA analysis? WRE BT T T HA AT?
(1) It could only be used in mitochondrial DNA (1) THFHT STWART Had ASCIhif~sdd SIYAY
testing uletor H o I AdHdT o
(2) It was highly susceptible to contamination (2) @E dgu & U s Hdgeie o
(3) It required large quantities of DNA for (3) fazeiyyy & fogw s A= § SWAT P
analysis AFTIHAT AT
(4) It had a high probability of match (1 in 4000) (@) rEdflda afdaal & 99 ffam A S=
between unrelated persons AT (4000 H 9 1) oft
(5) Question not attempted (5) srg<Ra ueA
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115.

Which characteristic is unique to animal hair but
rarely found in human hair?

(1) Lack of a medulla

(2) Uniform pigmentation

(3) Color banding along the shaft

(4) Pigment concentration near the cuticle
(5) Question not attempted

115.

DY [q2yar og & aid § il 8 iRy "™
& g1 H 9gd HH UR Sl 87

(1) Feger o1 srgaRerfy

(2) vHaE A=

(3) W¥e & W For dfeT

(@) Ffepa & urE A< S

(5) Srg<iRd 9=

116. According to the criteria of Denver Convention, 116-$9ar &=ded & AMGS! & IR, dMd 418
the human “Y’-chromosome belongs to - (Y) ToRE e wafda &7
(1) Group ‘B’ chromosomes (1) <v'(B) 998 & ORI
(2) Group ‘G’ chromosomes EZE @ S (G) I F & TPRE
(3) Group ‘A’ chromosomes E% (3) T (A) IE ) TOREA
(4) Group ‘C’ chromosomes (4) < (C) ¥ & PR
(5) Question not attempted (5) ariRa wed
117. Which of the followings is not a component of ~ 117- f=feiRad & | ST Hect @ dId $1 U
Kahle’s solution, commonly used for the :r€r 8, s SuanT JdR R die :ma_“ﬁ @
preservation of insect samples? wReror @ forg ST 87
1 o T 2 tﬁu]ﬁ%g]g@"
(1) Methanol (2) Formaldehyde (M 7 )
. A (3) urit (4) =iRre gfafes
(3) Water (4) Glacial acetic acid trie
(5) Question not attempted (5) SR W
118. The cytogenetic location of CODIS marker 118 BIfEH ATHY THO1 HT AIZCIOCH W & —
T1H°1 is - s (1) 13q31.1 (2) 12p13.31
£ Sl 1 gl (3) 7q21.11 @ 11pl15.5
(3) 7g21.11 (4) 11p15.5 5
(5) Question not attempted (5) STgaNe 7=
119. Lattes crust method for blood grouping was 119-=7e i1 & forg ofcw wwe Y fFas fog
developed for - aamid &7
(1) Detection of agglutinins in respect of ABO (1) 980 /M & WA § ABO &I T HoTell
blood group systems in very old blood stains & Hay § eI @1 uar e 3 farg
(2) Detection of M and N agglutinins in () T (putrefied) &€ & T ¥ M d N
putrefied blood samples :
QIS ST Udl o B
(3) Detection of ABH blood group substances in fery
; (3) W =fs ®T ¥ ABH &€ J0 USRI &1
old blood stains ¥ g
(4) Detection of agglutinins in respect of ABO el 1?&'
blood group systems in relatively fresh blood (@) qroT =T WA #§ ABO =S U WUTell &
stains e § QST BT gar o & g
(5) Question not attempted (5) Sr<IRd U=
120. Which among the following compound is 120 f=faRaa # & S=wm ATE GRET & =
responsible for the durability of pollens? % forw R ER &8°
(1) Chitin (2) Sporopollenin (1) wmrsfeq (2) R
(3) Lignin (4) Cellulose (3) faf== (4) Segarst
(5) Question not attempted (5) IR g
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121.

122,

123.

124.

Given below are two statement —

Statement (A):  All immunogens can be

considered antigens but all

antigens are not capable of

eliciting antibody formation.

Haptens are antigenic but not

immunogenic.

In light of the given statements, choose the

correct option -

(1) Both statements (A) and (B) are false

(2) Both statements (A) and (B) are true

(3) Statement (A) is false but statement (B) is
true

(4) Statement (A) is true but statement (B) is
false

(3) Question not attempted

What is the importance of chain of custody in

forensic investigations?

Statement (B):

(1) Itidentifies the primary suspect.

(2) It provides expert testimony.

(3) It ensures the integrity of evidence.

(4) It tracks the origin of evidence.

(3) Question not attempted

Which staining technique is most commonly

used for microscopic identification of

spermatozoa?

(1) Wright’s stain

(2) Gram stain

(3) Hematoxylin and eosin stain

(4) Christmas tree stain

(5) Question not attempted

Which of the following is not a reason for an

investigator to wear gloves when handling

evidence at a crime scene?

(1) To avoid touching hazardous substances at

the scene

(2) To protect the evidence from being
contaminated by personal DNA or fibers

(3) To prevent leaving their fingerprints on the

evidence

(4)
(5) Question not attempted

To keep their hands clean and free of debris
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125.

126.

127.

128.

129.

130.

Killing the larvae for length measurements can
be achieved by putting them in which of the
following?

(1) Cold water (2) Sodium hydroxide
(3) Hot water (4) Staining reagent

(5) Question not attempted

Which of the following is not found in seminal
plasma?

(2) Calcium

(4) Copper

(1) Magnesium
(3) Zinc

(5) Question not attempted

Which of the following regions are used for
developing PCR primers, employed for the STR
locus amplification?
(1) Template DNA

region

(2) Core Repeat region

(3) Repeat unit region (4) Flanking region

(5) Question not attempted

The arch shaped stress marks formed as a result

of glass fracture are known as -

(1) Concentric fractures

(2) Radial fractures

(3) Spiral fractures

(4) Conchoidal fractures

(5) Question not attempted

A ‘negative control’ in a PCR consists of -

(1) PCR reaction
DNA template

(2) PCR reaction mixture and nuclease free

mixture and standard

water/buffer
(3) PCR reaction mix alone
(4) PCR reaction mix and DNA template
(5) Question not attempted

Washington Convention for regulation of
wildlife is also known as -

(1) TUCN

(2) CBD

(3) TRAFFIC

(4) CITES

(5) Question not attempted
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131. Which of the following insect orders is most 131
relevant to forensic entomology?
(1) Hymenoptera and Lepidoptera
(2) Coleoptera and Diptera
(3) Hemiptera and Orthoptera
(4) Odonata and Mantodea
(5) Question not attempted
132. A forward (N+4) stutter band is an artefact seen 132
when amplifying STR, that is -
(1) 1 unit shorter than the primary allele of the
tetranucleotide repeat
(2) 2 units shorter than the parent allele of the
dinucleotide repeat
(3) 2 units longer than the expected band of a
tetranucleotide repeat
(4) 1 unit longer than the primary allele of the
tetranucleotide repeat

(5) Question not attempted

133. This number provides an effective method for  133.
assessing the RNA quality -
(1) RNA Identification Number
(2) RNA Information Number
(3) RNA Intensity Number
(4) RNA Integrity Number
(5) Question not attempted

134. Any kind of odour present at the crime scene can 134

be recorded by -
(1) Photography (2) Not recorded
(3) Videography (4) Note making

(5) Question not attempted

135. Which of the following chemicals is used in 135
collection jar to kill insects?

(1) Methanol (2) 75% Ethanol
(3) Absolute alcohol  (4) Ethyl acetate E]:iE}
(5) Question not attempted =1
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136.

137.

138.

139.

140.

What is the purpose of air-drying wet evidence

before packing?

(1) To collect them easily

(2) They cannot be collected without drying

(3) To decrease its weight by removing excess
moisture

(4) To prevent the growth of microorganisms

(5) Question not attempted

What does ‘FTA’, the filter paper used for

collection of biological evidences, stand for?

(1) Flinders Technology Associates

(2) Fast Technique Assay
e

(3) Forensic Technology Association

[=]

=¥,

(4) Filter Technology Analysis
(5) Question not attempted

Technique utilized for collecting wet blood

sample from a crime scene -

(1) Scraping

(2) Swabbing by using cotton swab moistened
with methanol

(3) Swabbing by using dry cotton swab

(4) Swabbing by using cotton swab moistened
with water

(5) Question not attempted

Urobilinogen, which is formed in the intestine

after the reduction of bilirubin is utilized in the

examination of which of the following as a

Urobilinogen test?

(2) Saliva

(4) Faecal matter

(1) Vaginal secretion
(3) Urine
(5) Question not attempted

Which body fluid can be forensically identified
on the basis of a specific biomarker called
Tamm-Horsfall protein?

(1) Urine (2) Vaginal fluid

(3) Sweat (4) Vomitus

(5) Question not attempted
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141. DTT is used to lyse the sperm cells as it cleans

............ residues.

the disulphide bond in
(2) Methionine

(4) Cystine

(1) Alanine
(3) Tryptophan

(5) Question not attempted

142. What does a higher Ct value in real-time PCR for

DNA quantitation indicate?
(1) High template concentration
(2) Lower initial target DNA concentration
(3) Higher initial target DNA concentration
(4) Higher initial copy number of target DNA
(5) Question not attempted
143. Which of the following factor is responsible to
affect Post-Mortem Interval (PMI) significantly?
(1) Food (2) Temperature
(3) Humidity (4) Space
(5) Question not attempted

144. What is the role of heme in an oxidation-

reduction reaction for blood identification?
(1) Heme acts as the substrate

(2) Heme acts as a reductant

(3) Heme acts as an oxidant

(4) Heme serves as a catalyst

(5) Question not attempted

145. The maximum number of peaks detected in the

STR DNA profile of a mixture containing
DNA from two different individuals is -

(1) Four (2) Two

(3) Five (4) Three

(5) Question not attempted

146. What happens to the starch-iodine complex

when amylase is present in the sample?

(1) The starch is broken down into mono or
disaccharides, preventing the formation of
color.

(2) The complex turns yellow.

(3) The complex becomes green.

(4) The complex turns blue.

(5) Question not attempted
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149.

150.

147.

148.

Cofactor required for DNA polymerases used for

amplification is -
(1 Mg
) CI-

(2) Na*

(4) Fe?

(5) Question not attempted

Which crime scene search method provides
double examination of the same spot?

(1) Cross-hatch method (2) Spiral method

(3) Zone method (4) Strip method

(5) Question not attempted

In a double diffusion assay, when two antigens
are related but not identical, what is observed?
(1) The lines merge with spur formation.
(2) No precipitate forms.

(3) The two lines cross but do not fuse.
(4) The two lines fuse completely.

(5) Question not attempted

Which of the following assays is used for
by
glycogenated Nucleated Squamous Epithelial
Cells (NSEC)?

identifying vaginal secretion staining

(1) Lugol’s iodine assay or periodic acid Schiff
reagent

(2) Electrophoresis

(3) Enzymatic assay

(4) Gas chromatography-mass spectrometry

(5) Question not attempted
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